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(Q1 (English

Producing a project plan may best be described as:

A. Creating a network logic diagram that identifies the critical path.
B. Using a software tool to track schedule, cost, and resources.

C. Creating a document that guides project plan execution.

D. Creating a plan that contains the entire product scope.

Answer: C

(Aol 1 Jlguul

ail (nle Jaub Jraly aang ySon) eqpitnll ahs oliil

23l juuall pany aauill (nabio hihAo <Lid] i

Jjlgallg aalaillg (niofl Jgaall guiil d1ooyy 8ol olaaiwl .
Lopitall ahs apaii (] abyi adyig sbidl .o

adioll glhj Jols (nle (pging ahs (Uil .2

o &bl

aalboll aorallpl

Juisl cuw aung il ljnido Bpb aliwll oy oo Gap ol gSoy B .aauanll &bl prey (naisy U Jyall
Aauan e il aljuadl 13ladg ab i

“JUisl cnle cuad” opao U Lcayino equito pao addaoy 154y gjainll Jeay wglwll ase

jgaoll 2o apls [
gl PMP jLisl pAanill B aylels 15Dl alnoll élabl Jaui guielily dgollg aliwil
nlooll guhillg ayphill aponll Ju anaj

baall cini paailly cagll éjlal cnle wjai



.abgalo aoju djolallg aalll (pgiwo gayi

& ypoell) guiellly PMP jLuisl 6LSlo augolg aliwi
(&yjlailig

Bl éun PMP aralyin Ul gyjlitall 8)lal jJLis droiqaill aliwdl 4o dcgoan wioiw pwdll 14 (nd
el dayandl &lol ayani 2o auyell anoyill lguy of JLis Ul (na las ayjlaill aalily dgl

(Q1 (English

Producing a project plan may best be described as:

A. Creating a network logic diagram that identifies the critical path.
B. Using a software tool to track schedule, cost, and resources.

C. Creating a document that guides project plan execution.

D. Creating a plan that contains the entire product scope.

Answer: C
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(Q2 (English

Project management plan updates are output of:
A. Integrated change control.

B. Develop project plan.

C. Direct and manage project execution.

D. Monitor and control project work.



Answer: A
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(Q3 (English

You are meeting with a new project manager who has taken over a project in the middle of
execution. The previous manager left, and the new one is overwhelmed with many change
requests from the boss, customer, and stakeholders. He doesnllit know how to process them.
Where would you refer him?

A. Project scope statement.

B. Project management plan.

C. The previous project manager.

D. Project charter.

Answer: B
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(Q4 (English

The project scope statement is:

A. Developed before the project charter, and after the project management plan.
B. Developed after the charter, and before the project management plan.

C. Developed before the contract, and after the project management plan.

D. Developed before the contract, and before the project management plan.

Answer: B
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(@5 (English

Work authorization system is used:

A. So that people know when they will be performing the work.

B. So that senior management may provide input by authorizing work requests.
C. To ensure only authorized people on the project are allowed to do the work.
D. To ensure work gets performed at the right time in the right order.

Answer: D
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(@6 (English

A defect in the product was reported to the project manager, and now the team is repairing it.
Which process applies most here?

A. Integrated change control.

B. Monitor and control project work.

C. Direct and manage project execution.

D. Administer closure.

Answer: C
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(Q7 (English

If you are creating a single document to guide project execution, monitoring and control, and
closure, you are creating:

A. The execution plan.

B. The project plan.

C. The integration plan.

D. The project framework.

Answer: B
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(@8 (English

The change control system should be created as part of which process group?
A. Initiation.

B. Planning.

C. Executinag.

D. Monitoring and controlling.

Answer: B
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(Q9 (English

Which of the following statements is not true regarding the project charter?
A. The project charter influences why the project is being undertaken.

B. The project charter assigns the project manager.

C. The project charter specifies any high-level schedule milestones.

D. The project charter specifies what type of contract will be used.

Answer: D
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(Q10 (English

Which of the following represents the project managerlls responsibility regarding change on a
project?

A. Influence the factors that cause project change.

B. Ensure all changes are communicated to the change control board.

C. Deny change wherever possible.

D. Prioritize change below execution.

Answer: A
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(Q11 (English

The project plan is made up of:

A. The other planning outputs.

B. The other planning outputs, tools, and techniques.
C. The aggregate outputs of all software tools.

D. Scope verification.

Answer: A
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(Q12 (English

When changes are approved and made to the project, they should be:
A. Tracked against the project baseline.

B. Incorporated into the project baseline.

C. Included as an addendum to the project plan.

D. Approved by someone other than the project manager.

Answer: B
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(Q13 (English

Work performance information is used for all of the following reasons except:
A. It provides information on resource utilization.

B. It provides information on which activities have started.

C. It shows what costs have been incurred.

D. It is used to help identify defects.

Answer: D
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(Q14 (English

You are a project manager, and your team is executing work packages to produce a medical
records system. Two customers ask for changes, each insisting theirs is the top priority. What
would be the best thing to do?

A. Have the project team meet with customers to decide which is easier and prioritize it.

B. Assign someone from the team to prioritize the changes.

C. Prioritize the changes without involving the team.

D. Deny both changes since you are in project execution.

Answer: C
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(Q15 (English

The program manager asks why your project is scheduled for 16 months, claiming past projects
finished in half the time. What is the best response?

A. Look for historical information on previous projects to understand them better.



B. Refer the program manager to the schedule management plan.
C. Refer the program manager to the project plan.
D. Explain that estimates should always err on the side of being too large.

Answer: A
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(Q16 (English

You work for a defense contractor on a project that is not strategic for the company. Although
not top priority, you secured top resources. At a meeting, you find out your organization won a
large, strategic project. What would you do first?

A. Contact management to find out if you can be transferred to this strategic project.

B. Contact management to find out how this new project will affect your project.

C. Hold a team meeting and explain resources cannot move to the new project.

D. fast track your project to accelerate its completion.

Answer: B
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(Q17 (English

Each time a sponsor requests a change, the project manager calls a meeting with the team and
stakeholders. This demonstrates:

A. A collaborative style of management.

B. Withdrawal.

C. The lack of an integrated change control system.

D. The lack of a project management information system.

Answer: C

(awypoll) 17 Jlgul

wlanl 8acq upall o cloinl 280 cqpitall pao 0gé) . cquitoll (na lfuei caelyl wlhy 610 Y5 cna
Selglull 140 1ok I3lo aalno

.Sl 6)la] oglwi

Aol .o

el asaill dolais plaj Glie o

2yuall )bl alogleo olhi glié .o

(©) o @bl

(Q18 (English

Your organization requires project changes >1.5% budget increase to be signed off by the project
office. A customer requests a change that increases the budget 3%, offers to pay fully, and
doesnllt want delay. Best choice?

A. Approve the change yourself, report after work is complete.

B. Ask the customer to take the change to the project office.

C. Do not allow the change since >1.5%.

D. Take the change to the project office.

Answer: D
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(Q19 (English

The person or group responsible for evaluating change on a project is:
A. The project manager.

B. The sponsor.

C. The project team.

D. The program manager.

Answer: A
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(Q20 (English

The output of direct and manage project execution process is:
A. The work package.

B. The work authorization system.

C. The deliverables.

D. The work breakdown structure.

Answer: C
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(Q21 (English

Your team is executing work packages when a dispute arises between two trusted members
regarding scope interpretation. How should this be resolved?

A. Team should decide resolution.

B. Resolve in favor of the customer.

C. Resolve in favor of senior management.

D. Consult the project charter for guidance.

Answer: B
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(Q22 (English

Which of the following statements is false regarding a WBS?
A. Activities should be arranged in the sequence they will be performed.
B. Every item should have a unique identifier.

C. The WBS represents 100% of the project work.



D. Each WBS level provides progressively smaller detail.

Answer: A
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(Q23 (English

Mark has taken over a project starting the construction phase, but discovers no WBS has been
created. What is the best course of action?

A. Refuse to manage the project.

B. Stop construction until the WBS is created.

C. Consult the WBS dictionary for sufficient detail.

D. Document this to senior management and add oversight.

Answer: B
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(Q24 (English

The project has completed execution, and now it is time for acceptance. Who formally accepts



the product?

A. The project team and the customer.

B. Quality assurance, senior management, and the project manager.

C. The sponsor, key stakeholders, and the customer.

D. The project manager, senior management, and the change control board.

Answer: C
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(Q25 (English

Creating the project scope statement is part of which process?
A. Project scope management.

B. Collect requirements.

C. Define scope.

D. Verify scope.

Answer: C
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(@26 (English

The project scope statement should contain:
A. The work packages.

B. A high-level description of the project.
C.Level of effort for each scope statement.
D. A detailed description of the scope.

Answer: D
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(@27 (English

The most important part of verify scope is:

A. Gaining formal acceptance of deliverables from the customer.
B. Checking the scope against stakeholder expectations.

C. Verifying the project finished on time and budget.

D. Verifying the product met quality specifications.

Answer: A
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(@28 (English

Organizational process assets include all except:
A. Historical information.

B. Organizational policies.

C. Lessons learned from previous projects.

D. The project management information system.

Answer: D
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(@29 (English

Which of the following is not part of collect requirements?
A. Senior management statement of fitness for use.

B. Scope change control system.

C. Description of how WBS will be created.

D. Description of how acceptance will be handled.

Answer: A
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(Q30 (English

You take over as PM for a data warehouse project in design phase; change requests keep coming
from many sources including your boss. What would have been most helpful?

A. An involved project sponsor.

B. A well-defined requirements management plan.

C. A change control board.

D. A change evaluation system.

Answer: B
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(@31 (English

What is the function of the project sponsor?

A. To help manage senior management expectations.

B. To be the primary interface with the customer.

C. To fund the project and formally accept the product.
D. To help exert control over the functional managers.

Answer: C
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(@32 (English

The project manager and the customer are meeting to review the product against the
documented scope. Which tool is most appropriate to use?

A. Verify scope.

B. Inspection.

C. Requirements documentation.

D. Validate deliverables.

Answer: B
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(@33 (English

You take over a project in progress and discover no WBS dictionary was created. Which problem is
least likely to occur?

A. Confusion about meaning of specific work packages.

B. Confusion about who is responsible for a work package.

C. Confusion about which account to bill against.

D. Confusion about how to change a work package.

Answer: D
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(Q34 (English

A team member makes a change to a software project without informing anyone, claiming it didnlit
affect schedule and improved the product. What should the PM do first?

A. Check if the customer authorized this change.

B. Submit the change to the change control board.

C. Review the change to see its impact on scope, cost, time, quality, risk, & satisfaction.

D. Ensure the change is documented in project updates.

Answer: C
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(Q35 (English

The product has been reviewed against scope and is being brought to the customer for formal
acceptance. Which process is this?

A. Verify scope.



B. Audit scope.
C. Close scope.
D. Control scope.

Answer: A
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(Q36 (English

The scope baseline contains all except:
A. The project statement of work.

B. The project management plan.

C. The WBS.

D. The WBS dictionary.

Answer: B
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(Q37 (English

As PM of a large IT project, you identify two areas where scope changes would add much higher
value to the customer. Which option is most correct?

A. Make changes if no cost/time increase.

B. Make changes if within project charter.

C. Discuss the change with the customer.

D. Complete current project and start a new one.

Answer: C
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(@38 (English

Which of the following activities is done first?

A. Project management plan.

B. Creation of the WBS.

C. Creation of the project requirements management plan.
D. Creation of the integrated change control system.

Answer: A
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(Q39 (English

Which of the following statements is true concerning functionality beyond the documented
scope?

A. It should go through the change control board to be added to requirements documentation.

B. Extra functionality should be used to exceed customer expectations.

C. The final product should include only the functionality documented in project requirements.

D. Extra functionality should be reviewed by the PM for conformity to product description.

Answer: C

(awypoll) 39 JIgul

S&dgall glaill b ayalsdl cailbell glin anian ayill Sllell yo ol

cquitn)l aldhio gon lgaei aiyd alpueilly aSaill ial pe o gl cay

Juooll aledgi jglail aralb il cailbgll go éalaiwil way .o

cquitn)l allhio (na aéfgall cailbgll haag .ailbgll e1no cilgill adiall goniy ol oy 2
adinll cangl lgidlho yo gaaill aralbll cajlbgll cquiall pao @oly ol ciay o

(C) o:aulboll

(Q40 (English

A PM has managed a project for six months, nearing completion. Change requests keep coming. The
project is ahead of schedule but over budget. Which statement is true?

A. The PM should influence the factors causing change.

B. Changes should be evaluated only after original baseline is delivered.

C. Changes now represent unacceptable risk.

D. Changes should be evaluated mainly by customer value.

Answer: A
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(@41 (English

You are PM for a commercial office building project similar to one done 2 years ago. Entering
define activity process, best approach?

A. Use the previous activity list as your list.

B. Create your list independently, compare later.

C. Use gap analysis to identify differences.

D. Use the previous list to help construct your list.

Answer: D
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(Q42 (English

The customer calls a team member to request a schedule change. The team member asks you
about the procedure. Where should you refer him?

A. The project office.

B. The change control board.

C. The schedule management plan.

D. Tell him the customer is always right.

Answer: C



(awpell) 42 JIguul

aclil colgll el ge Gupall gae Jlw .criofll Jganll (né puei alhl guall slacl 1ol Juaell Yol
Sl gl agagi wil cnll

cquitn)l ciifo |

alpeily paaill dial g

.ol Jgaall 6)lbl abhs .o

4o e il Junell gl ojus| o

(C) o :aulo ]

(Q43 (English

If creating duration estimates for a schedule activity, which tool/technique is NOT appropriate?
A. Expert judgment.

B. Reserve analysis.

C. Three-point estimating.

D. Last-square estimating.

Answer: D

(awypell) 43 JIgul

Sawlio pe aglll aliaill gl algall go (ol .cpiojl Jgaall cné blit) aoll Gilyadi slae] aic
(Expert Judgment) (pguall a5all

Glblisll Julaj .o

blail (il yaail o

(Last-square) 651l caleyyall adyphy padill .o

(D) 2 :aulo Ul

(Q44 (English

Senior management calls you to review project progress. You have 15 minutes to report and
discuss critical issues. What is best to bring?

A. Milestone chart.

B. Project network diagram.

C. An expert from each functional area.



D. Project status reports from team members.

Answer: A

(awypoll) 44 J1dul

Llaall ardbling pyai pyadil has 48163 15 chal .clegpito paai aeslin) clainl Wlell 6ylall elico
Scloo aloai gl oy (pall Jrall juall go o .aopal

(Milestone chart) allonll hhAo

cquinll a5ub hhao .l

aliwdl cnle ayloll equitnll (na (naibhg Jlao U5 go s o

Gupall elael go equitall allo pjlai o

(A) 1 :aulol

(Q45 (English

The amount of time an activity can be delayed without extending the critical path is:
A. Lag.

B. Grace period.

C. free factor.

D. Slack.

Answer: D

(awpall) 45 Jlgul

o 232l jluall allb] (] ella (pady ol ggo blidl lgua iy ol g80y (il agiojl 6a0ll
(Lag) cniojll Jolall i

ool 6pia .0

sl olell .o

(Slack) cnalpill .o

(D) 5:aulo

(Q46 (English

Crashing differs from fast tracking because crashing:

A. Usually increases value.



B. Usually increases the cost.
C. Usually saves more time.
D. Usually saves more money.

Answer: B

(awypoll) 46 Jlgul

:ail (Fast Tracking) eupwill e caliay (Crashing) (niofl honll
Aouall ap 6ale

Aaalail aj éale g

Jisl liag pagy éale .o

451 Ulo pagy éole .o

(B) w &y Ul

(Q47 (English

Senior management says: lIThe last similar project cost nearly 5 million dollars.ll What estimating
method is this?

A. Delphi technique.

B. Principle of equivalency of activities.

C. Analogous estimating.

D. Bottom-up estimating.

Answer: C

(awpall) 47 Jlgul

Slae padi aglwl cpl “jUgs yullo dwns wjlay bo lials aylitoll sl equitall” el )21 cUla
(Delphi) cnats wglwi

abhuiilll galasi iauo .o

(Analogous) yulaJu paaill .o

el «] Jawl go paaill o

(C) o :aulol




(Q48 (English

You advise a PM behind schedule. The sponsor is unhappy, threatens to cancel, but accepted a
revised due date without increased spending. Best advice?

A. fast track the schedule.

B. Ask senior management for a new sponsor.

C. Crash the schedule.

D. Ask the customer to increase budget without sponsor.

Answer: A

(awypoll) 48 JIgull

ilgi acgoy Jué aisl . cquiall clell 22g)g Wl pé cnclgl.cniofl Jgaall ge palio gqpio pyao anii
Slgoadi dayni Jhdl (i o aljall 630j 9o a0

(fast Tracking) Jgaall gy i

el é)lallyo 2o ¢l clb .o

(Crashing) cniopll hanll o

.cnelgl dlpnl ygo awiljrodl 65uH Juoell @o daaill o

() 1 :auloul

(Q49 (English

Which schedule tool inserts non-working buffer time between activities?
A. Critical chain method.

B. Critical path method.

C. Resource leveling.

D. Schedule model.

Answer: A

(awypoll) 49 JIgull

Sabuinill gy Joel yanso pé liblisl lag Jsai cniojll Jgaall pghi cilgal (o 8lal (pl
(Critical Chain) asyJl alwludl wglwi i

(Critical Path) ool jlwnll wglwl .

(Resource leveling) ojlgoll &yguui .o

ol Jgaall 93gai .o



(A) 1ol

(Q50 (English

What is the best tool to calculate a projectls critical path?

A. WBS.

B. GERT diagram.

C. Gantt chart.

D. Project network diagram.

Answer: D

(awypoll) 50 JIgull

S eguitall (na opadl jluoll wlwal élal Jool (e o

(WBS) Joall &jjai Jous i
BERT hbhao .o

(Gantt) il bhbao .o
Lopuoll a5 hbhao o
(D) »:aby

Dependent on

Start

Start

Start

A.C

Duration

(@51 (English

PWhat is the critical path

Activity

Start



Dependent on Duration Activity
B 1 f
D, f 6 G
E 1l H
D, f 8
G H.I 0 finish
Options:
A.Start-A-E - H - finish
B.Start-C-E -H - finish
C.Start-B-D-1|- finish
D.Start-B-D -G - finish
Answer: A
(aupell) ST Yl
Soall jluollgo o
e anio) 620l buudl
0 aylaull
aylal 3 A
aylaul 4 B
aylaull 2 C
B 2 D
A C S E
B 1 £
D, f 6 G



wnle anioy 620l bl

E n H
D, £ 8
G H, I 0 &lgill

sl
aulgill-A-E-H-alal i
Algil-C-E-H-aladl.u
Algil-B-D-1-ayladl .o
Aylgil-B-D-6-aylaul .o

(A I:abul

(Q52 (English

Using the project network diagram you created for question 51, what is the float for activity D?
A. 0 days.
B. 3 days.
C. 5 days.
D. 7 days.

Answer: C

(awpel) 52 Jigul

3D blitill (Float) cpiojll yitolg)l 9o o .51 Jlguul (né ailil (pall equitall a5ub hhAo pladiwl
.00 i

oLl 8.0

oll5 .o

.rDL_li 7.0

(C) o :aubbul




(@53 (English

An activity has a duration estimate: best case = 30 days, most likely = 44 days, worst case = 62
days. What is the three-point estimate?

A. 44.67 days.

B. 34.67 days.

C. 5.33 days.

D. 59.33 days.

Answer: A

(&wypoll) 53 JIgul

169y 62 = allo Igwl .Logy 44 = Uloisl ji5 1l allall .Logy 80 = allb Jnal :(nills 620l yaai ayal o bliy
3(Three-Point Estimate) blail (il paaill go o

lbg) 44.67

L6gy 3467 .

gy 533 .o

16gJ)59.33 .2

() 1 :auloul

(Q54 (English

Which of the following best describes a project manager applying what-if scenario analysis?
A. Using project software to build three versions of the schedule.

B. Using Monte Carlo analysis to identify what happens if delays occur.

C. Using critical path method to analyze if the critical path occurs.

D. Discussing with managers what they would do if members quit early.

Answer: B

(awypoll) 54 JIgull

What-if Scenario) “qJ I3Lo" J_ail eqpiitnll yao uhi Jaal J Ay cany adlil aljlall oo ol
S(Analysis

aaliao Jglao ajils =l oyjlitall 6)ls] aolip plaiwl i

alpsli credg 13] danuw b aaail glils cigo Julad plaAiwl .o

o3l ol a7 15] Ganuw b Juai oyl juwodl ogll plaaiwl .o



1510 Gupall clael ey jale 15] gygpaoll aleanw bo amélio .o
(B) w Ul

(@55 (English

How do activity list and activity attributes relate to each other?

A. List focuses on schedule activities; attributes apply to WBS activities.
B. Attributes are created before the activity list.

C. Activity list may replace attributes in most processes.

D. Attributes provide more info for each activity on the list.

Answer: D

(awypoll) 55 JIgull

S(Activity Attributes) “ahuiill yilns” 4 (Activity List) “abuinll aoila” hijy <ays
WBS ahuiul cnle i yilnall Loy .alganodl abiindl cnle anjlall 555 .0

Ahuiull anila Jud yiloAdl il oy .o

lloell aheo (na yilnAall abuisil anila Jlauiwl $aoy .o

anilall (o bliy Jal agals] alogleo ilnall jagi o

(D) 5:aulb Ul

(@56 (English

Which of the following best describes the critical path?

A. Activities that represent critical functionality.

B. Activities that are largest portions of work packages.

C. Activities with the highest schedule risk in the project.

D. Activities that represent the optimal path in the network.

Answer: C

(awypoll) 56 JIgull

Sopall juunl Jnall cangll go adlill aljiell go
Ao apwlwl cailbg Jind (il ahuiill i
Jooll pjo o eljol pal Jioj il abuivil .o



copitall (no cpiopl Jgaall phlao yo (pgiwo cnlel Jioj (il abuill .o

asuill cna Jiodl jluall Jing caill ahididl o
(C) o :alol

n

14

2l

(Q57 (English

?Consider the table below, what is the length of the critical path

Duration

Start 1A

Start I E

AEB

BIC

ceb

D [ finish

EOF

f£ac

£ oH

ERG

GHH

HED

Activity

Options:
A. 43
B. 45
C. 583
D.54

Answer: D



n

14

2l

620l

A 2 aylayl

E 0 aylayl

ADB

BEC

CelD

algil 2D

EBF

feuc

£ IH

EMNG

GIH

HED

(el 57 JIgul

S22l jlwall Jgb go Lo olisl Jgaall (] phil

buudl

:ahuAall
43 1
45 .U
93.0
o4 1

(D) 5 :aylo




(@58 (English

Consider the table in question 57. What is the slack for activity HZD?
A.0

B. 1

C.5

D.13

Answer: B

(&wypoll) 58 Jlgul

SHED bluill (Slack) cniopl yiolgll go o .57 JIgudl cna Jgaodl <l philu
0.1

1.g

9.0

183 .0

(B) w bl

(@59 (English

Your schedule has just been developed and distributed. A resource says her activity cannot be
completed in allotted time; revised estimate changes schedule but not critical path. Best way to
handle?

A. Stick with published schedule, allow deviations using reserve.

B. Re-estimate activity duration and update schedule/documents.

C. Hire consultant to validate claim.

D. Replace resource with one who accepts schedule.

Answer: B

(&wypoll) 59 JIgul

c1dgll (nd ojlai] g5oy U lgblis gl ajlgall cpas| elipsl g5) .aeyjgig elegpiin) criojll Jganll yghi aj
Jaal bo opall jlunll cale péy o) il Jgaoll penw ayaall padil byhAil (e yélgi cuwy yanAall
Selpol

nblinyl plaaiwl calpailly slowllg jguitioll Jgaaly ol i

Oladiwollg Jgaall ¢yanig bluill 620 padiéale] g



leflkes ) Gl e Ui fuws o
J922JU poljlUl aibny Ay ojgoll Jlaiwl .o
(B) w bl

(@60 (English

Road project: 32 miles, $5M per 4 miles. Planned 50% completion today. Completed 20 miles at $18M.
What is planned value (PV)?

A. $12,800,000

B. $18,000,000

C. $20,000,000

D. $40,000,000

Answer: C

(awypoll) 60 JIgull

18 &_alaiy o 20 :jainll .pg il jlail %50 :a bl Juol 4 J5) gullo S aalsil il 32 :§upb cqpiio
3(Planned Value) ahhAoll aoyall ne o .ygulo

JUg1 12,800,000 .i

JUg2 18,000,000 .

4Ug2 20,000,000 .5

JUg2 40,000,000 .

(C) o :aulol

(@61 (English

If the CPlis 0.1, this indicates:

A. Project is performing extremely poorly on cost.
B. Projectis 10% over cost.

C.Project costs only 90% of expected.

D. Project is performing extremely well on cost.

Answer: A



(el 61 JIgul

‘(niey laga CPI) = 0.1) aalaill elal pido gls 13
aalaill dus go el (nalis cagen eqpitall
&agin yls Lo 4isi %10 calay cquitall .l
Laagio L5 oo %90 haa calsy cqpuitall .o
aalail ¢us o 130 jlioo equitnll .o

(A :alby

(@62 (English

Activity cost estimates are used as input into which process?
A. Estimate costs.

B. Determine budget.

C. Analyze cost.

D. Control cost.

Answer: B

(awpel) 62 Jigul

Sayloe (pll U105 paaiwd ahibilll aalai cilyaal
cadlail padi i

Ailjroll jani .

cadail Juaj .o

«aylaill adlyo o

(B) w:abo Ul

(@63 (English

Which project is best based on these BCRs?
A. BCR = -1

B.BCR=0

C.BCR=1

D.BCR=2

Answer: D



(awpel) 63 Jlgul

SJrall go equio (pl .aylill (BCR) aalai/éailo cuwi cnle aliy
1-

0.

1.0

2.0

(D) 2 :aylo ]

(Q64 (English

Best estimate: $200,000; range: $100,0007$400,000. This is a(n):
A. Estimate cost.

B. Determine budget.

C. Order of magnitude estimate.

D. Definitive estimate.

Answer: C

(awypell) 64 JIguul

:J1loy 139 .400,0000100,000 :glaiJl 35 .jUgs 200,000 :aalaill paai Joal
.(Order of Magnitude) (nupai padi.o

(Definitive) cnilgi paai .o

(©) o byl

(@65 (English

Which process sequence is correct?

A.Create WBS [l Determine budget [ Estimate cost.
B.Create WBS [l Estimate cost I Determine budget.
C. Determine budget [ Estimate cost [ Create WBS.
D. Estimate cost [l Budget requirement [ Create WBS.

Answer: B



(awpel) 65 Jigul

Sauan aldool) Julwi ol

aalaill paai o asljoll aani 7 WBS clidl i
auiljroll ayani @ aalsil paai I WBS cbidl .o
WBS cliiil 7 aalail paas B asljall 1yaai .o
WBS < Lisi] B auljio)l ollhio B aalail paai .o
(B) w:abo Ul

(066 (English

A team member changes budget with your approval. Which process is this?
A. Cost planning.

B. Estimate costs.

C.Project cost management.

D. Control cost.

Answer: D

(awpel) 66 JIgul

Slae pjaiy agloe (pl (nb clidalgoy agilipoll (nb pueiy Gypall eliel a0l pla
cadlaill huhAg i

«cadlail paai.g

.copuoll cadlag éylal .o

caylaill (g 058aill 5

(D) 5 :aulo

(@67 (English
‘NPVs
Project 1: NPV = $100,000; Cost = $50,000

Project 2: NPV = $200,000; Cost = $75,000



Project 3: NPV = $500,000; Cost = $400,000
Project 4: NPV = $125,000; Cost = $25,000

Which is best?
A. Project 1
B. Project 2
C.Project 3
D. Project 4

Answer: C

(awpoll) 67 Jlgul

cilequital) (NPV) aula)l ol (nalp wlus ao;
50,000 &al4illg 100,000 :1 cqpuitall

75,000 &alillg 200,000 :2 cqpuitall

/400,000 aal5illg 500,000 :3 cqpuiall

25,000 aalaillg 125,000 :4 cqpitnll
sdnall lgil

1 cquinll

2 cqpitoll .o

3 cgpuinall .2

4 cqpuall o
(©) o :auloyl

(068 (English

Project office buys software tool for estimating large construction project, using project details
+ historical info + industry practices. This is:

A. Bottom-up estimating.

B. Parametric estimating.

C. Analogous estimating.



D. Requirements estimating.

Answer: B

(awypoll) 68 JIgull

wilns (nle anioi .alow dabl Ll gqpiito cadlai paail aiaoy 6lal eqpiinll ii9n (il
Jioy 13 .aclinl alwjloo + iyl aloglao + cgpitall

(Bottom-up) cnled Jawi go padaill i

(Parametric) alolenlb paaill g

(Analogous) yulaJu paaill .o

oldhioll paai

(B) w &y Ul

(069 (English

You are managing a project in a large IT program. During execution, you are alerted of a serious
copper cost overrun. What should be your first action?

A. Evaluate the cause and size of the overrun.

B. Stop execution until the problem is solved.

C. Contact the program manager for additional funds.

D. Check if reserves cover the overrun.

Answer: A

(awypoll) 69 JIgull

Lo .yulaill 6alo &4lAaT cna 5 jglad agogy clouii ai .Apaiill Uil jus (nidi aoliy gob Equio yaj
Say oLl elile cay clpol Jol 9o

jolaill pang cuw apdi i

alaiioll o oy cnio auaiill calay) .o

a10] Jlgol clb) aolipl yaoy Jaill o

Jaladll (nhai alblisl cils 13] lao gaaill .o

(A) T :aylo Ul




(Q70 (English

If EV = $10,000, PV = $8,000, and AC = $3,000, what is schedule variance (SV)?
A.-$2,000

B. $2,000

C. $5,000

D. -$5,000

Answer: B

(awypoll) 70 J1gul

adoall aalajllg gy PV) = 8,000) A hhAoll a oydllg .jlgs EV) =10,000) arwisoll @ ordll cils 13]
2(8V) cniopl Jgaall calpail g laa .jliga AC) = 3,000)

JUg2 2,000- i

JUq95 2,000 .

JUg25,000 .o

Y92 5,000- .5

(B) w Ul

(@71 (English

Estimate to Complete (ETC) indicates:

A. Total projected spending based on past performance.

B. Remaining projected spending based on past performance.
C. Difference between budgeted and expected spending.

D. Planned completion cost minus cost to date.

Answer: B

(awypoll) 71 Jlgul

U] (ETC) JlosS Ul padd puiy

Gl el (] 15Liwl @agiall laill clao] i
Sl el (] 13Liwl (néayioll @agioll Glaill .o
.adlai] @d8gij log anunAj aj lo gu Grall .o

01 (o cadlaill lhal ahhaall Jlosil aalas o
(B) w Ul



(@72 (English

If CPI'=0.95 and SPI = 1.01, this means:
A. Slower progress, higher cost.

B. Slower progress, lower cost.

C. faster progress, higher cost.

D. faster progress, lower cost.

Answer: C

(awypoll) 72 J1gul

iy 13ga SPI) = 1.01) Jgaall <lal piigog CPI) = 0.95) aalaill clal pigo gls 13]
Aol go (el aalaillg bl paaill i

hhaoll go Jai aalaillg Ul paaill .o

bhAanll go nlel aalaillg epwl paail .o

bhanll go Jal aalaillg cpwl paaill o

(C) o :auboll

(@73 (English

Best use of cost baseline is to:

A. Measure and monitor cost performance.
B. Track approved changes.

C. Calculate performance bonuses.

D. Measure/report variable costs.

Answer: A

(awypoll) 73 JIgul

g0 aalaill yulwll hal plaAiwl Jaal
cquitoll (pllall eladl audlog yulid
Saniooll alpueill @1ii .o

aupall bl alalbo olws .o

Spoioll cadlaill ge glhlig yulié .o
() 1 :auloul



(Q74 (English

The value of work completed so far is:
A. Earned Value.

B. Estimate at Completion.

C. Actual Cost.

D. Planned Value.

Answer: A

(awypoll) 74 JIgull

‘o gUl o ojlail pd pall Jooll doud
(EV) auwibnll aogall

(EAC) Jlos Ul aic padill .o

(AC) adeall aalaill o

(PV) ahhAoll anyall 3

(A) 1ol

(Q75 (English

If schedule variance (SV) = $500, this means:
A.PV<EV.

B.EV < EAC.

C.AC < EV.

D.EV:PV =51

Answer: A

(awypoll) 75 JIgull

‘(nioy laga g SV) = 500) (ninl Jgaall calpail s 13|
(EV) auuignll angall go Jal (PV) ahbAall angall i
(EAC) Jlas Ul aice paaill go Jai (EV) auisoll aorall .
(EV) auisoll ansall go Jal (AC) adeall aalaill .o

51 o ahhAoll (] auwisoll aoyall duj g

() 1 :auloul



(76 (English

If BAC = $500, ETC = $400, EV = $100, and AC = $100, what is Estimate at Completion (EAC)?
A. $0

B. $150

C. $350

D. $500

Answer: D

(awypoll) 76 JIgul

EV)) duwisoll doyidllg .jUga ETC) = 400) JloSUI padig .jUga BAC) = 500) JlosUl ade auiljuoll ¢uls 13]
S(EAC) JlosSUl aic padill go loa .jigs AC) = 100) adeall aalaillg .jUgo =100

JUga 0 i

1jgs 150 .

1jUga 350 .o

492500 .2

(D) 2 :aubo Ul

(Q77 (English

You have spent $322,168 on your project to date. The program manager asks why costs are high.
You explain resource costs have been greater than expected but will level out. What does
$322,168 represent?

A. Earned value

B. Actual cost

C. Planned value

D. Cost performance index

Answer: B

(awypoll) 77 J1gul

ol opii .aeaipo cadlail 13la) anlpdl pao elluy clequio (nle ljUgs 322,168 Il (nis craail aal
322,168 alinll aliny (pall o .anaslall ygibdl JUs yjlgiiw lgial adqinll yo psl cuils ajlgall cadlai
S oolpdl paol



(EV) auwianll aoiall i
(AC) adoall aalail .
(PV) abbhAnll anyall .o
(CPD) aalaill «Ial pbgo .
(B) w bl

(Q78 (English

You are a PM. Your manager wants to evaluate your projectlls performance against company
quality standards. Which process is this?

A. Total quality management

B. Perform quality control

C. Plan quality

D. Perform quality assurance

Answer: D

(awpoll) 78 Jlgul

6392Jl yulen) aidilbo (pao dapen) elequio el oudil cloo claisil ¢lyao pg .cquiw pao il
Selpao Jiliy adoce cpl (na .aspily anlall

alolidl 63gaJl ¢jla] i

6390l audlpo A1aii.g

63gall bubhAaji .o

.023g2Jl yloo 2aii .o

(D) 5:aulb Ul

(79 (English

Using a fishbone diagram to find root causes of problems means you are doing:
A. Quality inspection

B. Quality prevention

C. Quality control

D. Quality audit

Answer: C



(el 79 JIgul

cnioy 1aga .allaiiial) ayjaall oluwll aaail (Fishbone Diagram) aSouwll JSue hhAo plaaiwl aic
' 0gdaj clif

6392l ppaa

Jaroll yo gylagll.g

.63gaJl audlyo .o

.03g2Jl @182 .o

(C) o &bl

(Q80 (English

Plan Quality includes all outputs except:
A. Quality management plan

B. Acceptance

C. Operational definitions

D. Checklists

Answer: B

(awypel) 80 JIgul

elifiml adlll aloypanll gros 6392l bihaji Jouiy
63g2Jl 6lo] abs

Joudll .o

adronill alayeil .o

§anill ajlgd o

(B) w:abo Ul

(081 (English

In a control chart, the mean is represented as a horizontal line. This means:
A. Average of control limits

B. Average of all data points

C. Average of data points within control limits

D. A way to identify assignable causes



Answer: B

(awpell) 81 J1gul

i nioy 13lo .naal hay hwgiall Jinf . 0841 hhao (nd
0521l 5gan buwgio i

@bl blaj g1on hugio .

0811ll 3920 yan dedlgll alilwl blai hwgio o

e il) ablall oluwdl 32l aliwg o

(B) w &y Ul

(@82 (English

Why are quality audits important?

A. They quantify risk.

B. They randomly check products to see if they meet standards.
C. They check if the quality process is being followed.

D. They are unannounced to prevent covering defects.

Answer: C
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(@83 (English

If activity A results do not affect activity B results, then they are:
A. Statistically unique
B. Statistically independent

C. Correlated but not causal



D. Mutually exclusive

Answer: B
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(@84 (English

Best tool to identify out-of-control results is:
A. Pareto charts

B. Control charts

C. Ishikawa diagram

D. Statistical sampling

Answer: B
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(@85 (English

You have limited resources and several quality defects. You want to attack causes with the
highest number of defects. Which tool shows defects by volume, greatest to least?

A. Pareto chart



B. Control chart
C. Ishikawa diagram
D. Cause-and-effect diagram

Answer: A
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(086 (English

In a construction project, you discover a serious defect in one section. Engineers analyze it and
decide the problem is relatively minor. Which process are you in?

A. Plan quality

B. Perform quality assurance

C. Perform quality control

D. Quality management

Answer: C
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(@87 (English

Your project is similar to one completed two years ago. You want to use the past project to set
quality standards. Which tool is best?

A. Benchmarking

B. Control chart

C. 1S0 9000

D. Total quality management

Answer: A
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(@88 (English

Which is most representative of Total Quality Management (TQM)?
A. Decreasing inventory to near zero

B. Everyone contributes to quality

C. Zero defect

D. Continuous improvement over disruptive change

Answer: B
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(@89 (English

Which of these quality standards is highest?
A. Impossible to determine without more info
B. 99% quality

C. Three sigma quality

D. Six sigma quality

Answer: D
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(Q90 (English

Which quality process is performed first?
A. Plan quality

B. Perform quality assurance

C. Perform quality control

D. Define quality

Answer: A
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(Q91 (English

During a quality meeting, the team wants to review companylls quality policy but finds none
exists. PM is concerned. Best action?

A. Document absence and take corrective action.

B. Write a quality policy just for this project.

C. Use benchmarking data instead.

D. Suspend work until policy is provided.

Answer: B
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(@92 (English

On a control chart, customerlls acceptable quality limits are represented as:
A. Control limits

B. Mean

C. Specification

0. Normal distribution

Answer: C
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(Q93 (English

A customer is concerned that the quality process is not being followed as laid out in requirements.
Best way to verify?

A. Random sampling

B. Kaizen

C. Personally participate in inspections

D. Audits

Answer: D
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(Q94 (English

Your company uses Just-in-Time management. What is the biggest concern for a project
manager?
A. Absenteeism

B. Lower quality of parts



C. Conflicting processes
D. Late inventory arrival

Answer: D
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(Q95 (English

Reducing quality on a project would most likely lead to:
A. Rework and higher cost risk

B. Absenteeism and decreased cost

C. More inspection and decreased cost

D. Reduced quality limits

Answer: A
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(Q96 (English

Which is not part of the Plan Quality process?



A. Benchmarking

B. Audits

C. Cost-benefit analysis
D. Design of experiments

Answer: B
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(Q97 (English

million+ lines of code exist, and more daily. Instead of reviewing each line, PM should consider: 2
A. Automated testing tools

B. Trend analysis

C. Statistical sampling

D. Regression analysis

Answer: C
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(Q98 (English

PM says: lThis project is important, letlls not fight over a few thousand dollars.ll Which conflict
resolution?

A. Smoothing

B. Problem solving

C. forcing

D. Compromising

Answer: A
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(Q99 (English

Who manages resources in a matrix organization?
A. Senior management

B. functional managers

C. Project manager

D. HR department

Answer: B
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(Q100 (English

Least desirable form of power for PM to use?
A. formal

B. Referent

C. Punishment

D. forcing

Answer: C
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(Q101 (English

Which statement best matches a Theory X managerlls beliefs?
A. People want to be rewarded for work.

B. Higher needs emerge only after lower needs are satisfied.

C. People will contribute if left alone.

D. People cannot be trusted.

Answer: D
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(Q102 (English

The staffing management plan:

A. Must be created by HR department.

B.Is part of resource management plan.

C.ls a tool of team development.

D. s an output of develop human resource plan.

Answer: D
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(Q103 (English

Which technique produces the most lasting results?
A. Problem-solving

B. Smoothing

C. Compromising

D. Withdrawing

Answer: A
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(Q104 (English

Most important role of project sponsor is:

A. Resolve conflicts between team and management.
B. Provide and protect financial resources.

C. Provide and protect human resources.

D. Balance constraints of time, scope, and cost.

Answer: B
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(Q105 (English

Human resource management encompasses:

A. Org planning, staff acquisition, performance reporting, manage team.
B. HR plan, staff acquisition, performance reporting, develop team.

C. HR plan, staff acquisition, develop team, release team.

D. HR plan, acquire team, develop team, manage team.

Answer: D
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(Q106 (English

Which is not an input to develop HR plan?
A. Enterprise environmental factors

B. Activity resource requirements

C. Organizational process assets

D. Human resource plan

Answer: D
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(Q107 (English

Which is a constructive team role?
A. Information seeker

B. Recognition seeker

C. Blocker

D. Devillls advocate

Answer: A
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(Q108 (English

Maslowls hierarchy of needs theory states:

A. Strongest motivation is to provide physiological needs.

B. Hygiene factors provide safety and security.

C. Psychological growth needs are met only after lower needs are fulfilled.
D. Higher financial reward means higher motivation.

Answer: C
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(Q109 (English

Which is not true of team building?

A. Team agreement needed for all major actions.

B. PM should role model in team building.

C. Team building less important as project progresses.
D. Teamwork cannot be forced.

Answer: C
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(Q110 (English

Team building is primarily the responsibility of:
A. The project team

B. The project manager

C. Senior management

D. The project sponsor

Answer: B
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(Q111 (English

A war room is an example of:

A. Contract negotiation tactics
B. Resource planning tools

C. A functional organization

D. Co-location

Answer: D
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(Q112 (English

Which of the following is not a process of human resources?
A. Develop human resource plan

B. Acquire project team

C. Team performance reporting

D. Develop project team

Answer: C
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(Q113 (English

A project coordinator differs from a project manager in that:
A. Coordinator has no decision-making power

B. Coordinator has less decision-making power

C. Coordinator has no authority to assign work

D. Coordinator handles longer projects than manager

Answer: B
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(QNM4 (English

Which is not a tool used in developing the project team?
A. Interpersonal skills

B. Training

C. Ground rules

D. Encouragement

Answer: D
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(Q115 (English

One potential disadvantage of a matrix organization is:
A. Highly visible project objectives

B. Rapid responses to contingencies

C. Team members must report to more than one boss
D. Creates moral problems

Answer: C
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(Q116 (English

PM in Detroit struggles with engineers in Cleveland office. Requests VP of engineering help, but
fails. What type of organization is this?

A. functional

B. Hierarchical

C. Strong matrix

D. Projectized

Answer: A
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(@117 (English

Which is not true about project ground rules?
A. Should be communicated to all team members

B. Should be consistent across projects in org



C. Should be clearly defined
D. Define behavioral boundaries

Answer: B
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(@118 (English

If a project has 4 people and 9 more are added, how many additional communication channels are
created?

A.6

B. 30

C.36

D.72

Answer: D
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(Q119 (English

The process to create a plan showing how all project communication will be conducted is known as:
A. Communication modeling

B. Plan communication

C. Information method

D. Information distribution planning

Answer: B
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(Q120 (English

The responsibility of decoding a message rests with:
A. The sender

B. The receiver

C. Identify stakeholder

D. Stakeholder analysis

Answer: B
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(Q121 (English

Which of the following is false regarding distribute information?
A. It is an executing process.

B. It ends when the product is accepted.

C. It may involve unexpected stakeholder requests.

D. It carries out the communication management plan.

Answer: B
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(Q122 (English

Your project is over three weeks late. You must communicate this to the customer. The message
should be:

A. formal and written

B. Informal and written

C. formal and verbal

D. Informal and verbal

Answer: A
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(Q123 (English

Which of the following statements is true regarding issues?
A. All issues must be resolved before closing the project.

B. The issue log is a tool for stakeholders.

C. Eachissue should be assigned to a single owner.

D. Issue management may be treated as a sub-project.

Answer: C
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(Q124 (English

The majority of a personlls communication is:
A. Verbal

B. Non-verbal

C. Documented

D. Unnecessary

Answer: B
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(Q125 (English

Which communication technique is most effective for resolving conflict?
A. Instant messaging

B. Conference calls

C. E-mail

D. face-to-face communication

Answer: D
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(Q126 (English

Communication skills are used most during which process?
A. Distribute information

B. Status meetings

C. Performance reporting

D. Communication change control

Answer: A
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(Q127 (English

The communications management plan typically contains all except:
A. Expected stakeholder response

B. Stakeholder communication requirements

C. Communication technology

D. Glossary of terms

Answer: A
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(Q128 (English

You are attending a bi-weekly status meeting with your program manager. She asks you to include
earned value analysis. Why is it important?

A. Communicates long-term success.

B. Communicates performance against the plan.

C. Communicates date of deviation.

D. Communicates value-to-cost ratio.

Answer: B
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(Q129 (English

You receive a last-minute report showing tasks 100% complete, but you believe they are only 60%.
Deliverables are reported finished but you doubt it. Walking into a stakeholder meeting, what do
you do?

A. Ask the team member to sign the report.

B. Ask stakeholders to wait while you verify.

C. Summon the team to clarify.

D. Do nothing now, provide amended report next meeting.

Answer: B
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(Q130 (English

The most important skill for a project manager is:
A. Administrative skills

B. Planning skills

C. Client-facing skills

D. Communication skills

Answer: D
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(Q131 (English

Best definition of noise is:

A. Unsupported info in communications

B. Anything interfering with transmission/understanding
C. Communication through unofficial channels

D. Acronym for operational informing

Answer: B
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(Q132 (English

Runway project CPI =1.2, SPI =1.25. Manager must tell stakeholders a quality test failed. What type
of communication is this meeting?

A. formal verbal

B. Informal verbal

C. Para-lingual

D. Non-verbal

Answer: B
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(Q133 (English

New runway project, 200+ stakeholders. Where find info on how to communicate with them?
A. Depends on project type

B. Stakeholder management plan

C. Communication management plan

D. Communication requirements

Answer: C
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(Q134 (English

Mary uses forecasting to determine estimate at completion. Where should she include this?
A. Communication management plan

B. Project active reports

C. Performance reports

D. Stakeholder management report

Answer: C
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(Q135 (English

Marie is a PM in a meeting with the customer. She carefully restates the customerlls message.
What is she practicing?

A. Listening skills

B. Project communication management

C. Professional courtesy

D. Passive listening

Answer: A
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(Q136 (English

Lessons learned should contain:

A. Teamlls collective wisdom

B. Customerlls feedback on improvements
C. Input into administrative closure

D. Analysis of variances from baseline

Answer: D
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(Q137 (English

In which process is earned value analysis used?
A. Plan communication

B. Distribute information

C. Performance reporting

D. Report project value

Answer: C
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(Q138 (English

You manage a data center construction in an earthquake-prone area. You choose resistant
building design. This is:

A. Risk transfer

B. Risk avoidance

C. Risk mitigation

D. Risk acceptance

Answer: C
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(Q139 (English

You evaluate risks by producing a risk source for each risk. Which tool is this?
A. Monte Carlo analysis

B. Probability impact matrix

C. RACl chart



D. Expert judgment

Answer: B
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(Q140 (English

You identified a major risk of cost overrunin a key software component. Best strategy?
A. Outsource development

B. Insure the cost

C. Double estimate

D. Eliminate the component

Answer: A
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(Q141 (English

Planning meetings and analysis are used in which process?

A. Risk monitoring and control



B. Quantitative risk analysis
C. Risk response planning
D. Plan risk management

Answer: D
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Risk 1

(@142 (English

PRefer to the diagram below. What is the expected value of result A

$200,000 value

B 4
25% Probability AR

50% Probability
» Risk2 (

75% Probability $400,000

.

Result B

Risk 1021 50% Probability [ Risk 2

(Risk 2 1 25% Probability [ Result A ($200,000 value

(Risk 2 M 75% Probability [ Result B ($400,000 value

Calculation:

Expected Value (Result A) = 0.50 [ 0.25 2 200,000 = $25,000



Answer: $25,000

Risk 1
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25% Probability TSt
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.

Result B
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(JUga 200,000 &a1dy) A aayiill B %25 Jlainl 2 thAll
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(Q143 (English

Refer to the diagram from the previous question. What risk management tool is employed in this

diagram?

A. Earned value management
B. Sensitivity analysis

C. Decision tree analysis

D. flowcharting

Answer: C
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(Q144 (English

Mary is meeting with her project team to evaluate risks and assign dollar/time impacts. Which
process is being performed?

A. Perform quantitative risk analysis

B. Perform qualitative risk analysis

C. Plan risk response

D. Monitor and control risks

Answer: A
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(Q145 (English

If a PM recommends immediate corrective action, which process is he involved in?
A. Perform qualitative risk analysis
B. Plan risk management

C. ldentify risk



D. Monitor and control risks

Answer: D
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(Q146 (English

Best source of info about potential risks?

A. Computer risk analysis

B. Interviews with team members from other projects
C. Historical records from similar projects

D. Your own industry experience

Answer: C
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(Q147 (English

After Monte Carlo analysis, what would it most likely identify?
A. Divergent paths causing risk

B. Points of schedule risk



C. Points of schedule conflict leading to risk
D. Gaps in project path creating risk

Answer: B
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(Q148 (English

Your company is starting a new project, and risks appear in early meetings. What should you do
first?

A. Develop a risk management plan

B. Identify project risks

C. Plan risk responses

D. Determine how risks will be controlled

Answer: A
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(Q149 (English

Plan risk management is:

A. Identifying potential risks

B. Deciding how risk management activities will be structured and performed
C. Assessing impact and likelihood of risks

D. Numerical analysis of probability of risks

Answer: B
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(Q150 (English

Which is an output of identify risk process?
A. Risk register

B. Probabilistic analysis

C. Risk-related contractual agreements

D. Recommended cash reserves

Answer: A
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(Q151 (English

Which is not a strategy for negative risk?
A. Avoid

B. Transfer

C. Share

D. Mitigate

Answer: C
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(Q152 (English

Risk probability and impact assessment is used in:
A. Identify risk

B. Perform qualitative risk analysis

C. Perform quantitative risk analysis

D. Plan risk response

Answer: B
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(Q153 (English

Best definition of risk management?

A. Identifying, analyzing, and responding to risks

B. Reducing risks to the minimum

C. Ensuring all risks are documented and controlled
D. Creating the risk response plan

Answer: A
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(Q154 (English

Which is not a tool for expert opinion in risk management?
A. Brainstorming

B. Delphi technique

C. Monte Carlo analysis

D. Expert interview

Answer: C
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(Q155 (English

Which is not contained in plan risk management process?
A. Risk breakdown structure

B. Description of overall approach to risk

C. Risk roles and responsibilities

D. List of identified risks

Answer: D
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(Q156 (English

Which statement is true regarding risk?

A. All risks must have workarounds

B. All risk events are uncertain

C. All risk events are negative

D. All risks must be covered by contingency budget

Answer: B
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(Q157 (English

Which of the following is not a valid way to reduce risk?
A. Select a contract type that reduces risk

B. Insure against the risk

C. Create a workaround for the risk

D. Plan to mitigate the risk

Answer: C
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(Q158 (English

The contract type that represents the highest risk to the seller is:
A. fixed price plus incentive

B. Cost reimbursable

C. fixed price

D. Cost reimbursable plus incentive

Answer: C
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(Q159 (English

You have to rank numerous seller proposals in response to an RFP. What will you use to rank them?
A. Evaluation criteria

B. Request for quotation

C. Seller response guidelines

D. Seller selection matrix

Answer: A
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(Q160 (English

Make or buy analysis is a tool used in which process?
A. Plan procurement

B. Conduct procurement

C. Administrative procurement

D. Procurement analysis

Answer: A
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(Q161 (English

Need for new database tables discovered, scope not fully defined, project small and urgent. Which
contract type is best?

A. fixed price

B. Time and material

C. Open-ended

D. Cost plus incentive fee

Answer: D
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(Q162 (English

Motor needed for industrial robot is patented, only one supplier available. Price is within budget.
Best action?

A. Redesign specifications for alternative motor

B. Procure from the sole supplier

C. See if another country avoids patent issues

D. Remove it from procurement management

Answer: B
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(Q163 (English

Supplier contract allows you to change terms. You need to reduce quantities due to scope change.
How should you notify?

A. Take them to lunch and explain

B. Have your attorney call theirs

C. Email the supplier

D. Send formal written notice

Answer: D
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(Q164 (English

Your project has been terminated immediately due to a cancellation by the customer. What action
should you take first?

A. Call a meeting with the customer.

B. Enter close procurements.

C. Ask your team leads for a final status report.

D. Verify this change against the procurement management plan.



Answer: B
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(Q165 (English

You are evaluating proposals from prospective sellers. What process are you involved in?
A. Plan procurements

B. Conduct procurement

C. Administer procurement

D. Administer contract

Answer: B
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(Q166 (English

Youllre considering whether to develop software in-house or outsource. What activity are you
performing?
A. Source selection

B. Make or buy decision



C. Rational project procurement
D. Source evaluation

Answer: B
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(Q167 (English

The most important thing to focus onin contract negotiation is:
A. Negotiate the best price possible.

B. Maintain the integrity of the scope.

C. Negotiate a deal both parties are comfortable with.

D. Ensure legal/contract approval.

Answer: C
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(Q168 (English

Who generally bears the risk in time and material contracts?
A. The buyer

B. The seller

C. Buyer early, seller later

D. Depends on materials

Answer: A
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(Q169 (English

Company outsourcing in an area with little experience. Procurement document should be:
A. Completely rigid

B. flexible to encourage creativity

C. Informal

D. Reviewed by senior management

Answer: B
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(Q170 (English

Contract statement of work should provide:

A. Enough detail for seller to complete the project

B. Enough detail to describe product but not reveal sensitive info
C. Enough detail to perform make or buy decision

D. Enough detail for seller to know if qualified to perform work

Answer: D
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(Q171 (English

Boss asks you to hide schedule delay from customer. What should you do?
A. Cancel status meeting

B. Call customer and explain in confidence

C. Explain to boss that knowingly misreporting is unethical

D. Ask boss to put request in writing

Answer: C
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(Q172 (English

You are in a PMP study group when a coworker, who is also a friend, tells you she has acquired
actual exam questions. What should you do?

A. Study from them and compare to real exam.

B. Ask her to surrender them and turn over to your boss.

C. Decline and join a different study group.

D. Contact PMI and explain the situation.

Answer: D

(awypoll) 172 JIgul

o .cnleall glaioll go aliwl (ale Jno ail Gyang Jioj dusig .PMP glaiol awls degoao (nd il
Sl el Ul

JUuisVl alinl go lgiijlaog lgiwl i

Hboll iy lgoliy aidlbo .o

ol dwlo degoanl plonillg yyell yag) .o

00 cadgoll opug PMI g Jaill o

(D) 5:aulb Ul

(Q173 (English

Managing a project in a country with double the holidays and more vacation. What should you do?
A. Authorize same vacation for equality.

B. Use the other countrylls holidays in scheduling.

C. Allow extra vacation but demand same results.

D. Relocate work to another country.

Answer: B
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(Q174 (English

Customer insists on skipping WBS and using detailed activity list instead. What should you do?
A. Document disagreement and follow their way.

B. follow their way but make activity list close to WBS.

C. Ask sponsor to explain necessity of WBS.

D. Ask PMI to call the customer.

Answer: C
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(Q175 (English

Seller offers you 25% discount if you pay him a portion as appreciation. What should you do?
A. Do it to assure lowest bid.

B. Ignore and evaluate bids normally.

C. Eliminate seller and notify organization.

D. Negotiate for more discount and promise reward.

Answer: C
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(Q176 (English

A project manager friend struggles with unreasonable demands from customer and management.
What should you do?

A. Give him a PMBOK copy.

B. Encourage him to get project management training.

C. Tell him he shouldnlllt manage projects.

D. Talk privately to his boss.

Answer: B
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(Q177 (English

You took over a project; previous manager reported false milestones. CPI=0.88, SPI=0.81,
management unaware. What should you do?
A. Crash schedule to recover.

B. Explain revised status to management.



C. Refuse the project.
D. Ask stakeholders for direction.

Answer: B
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(Q178 (English

Two coworkers confide that they are using the projectlls chemical lab to manufacture illegal
drugs. They invite you to join them. What should you do?

A. Mentor these resources.

B. Investigate legality first.

C. Report to the authorities.

D. Insist they seek help but keep it confidential.

Answer: C
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(Q179 (English

Two stakeholders fight over project functionality. Who should resolve this conflict?
A. Senior management

B. The sponsor

C. The customer

D. The project manager

Answer: D
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(Q180 (English

You discover pipeline project poses undiscovered environmental threat. What should you do?
A. Seek government guidance

B. Seek media guidance

C. Seek attorney guidance

D. Resign from the project

Answer: A
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(Q181 (English

Team members lack skills needed; training is required. What should you do?
A. Help them get necessary training

B. Ask HR why training was missing

C. Let them learn by doing

D. Ask customer to fund training

Answer: A
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(Q182 (English

Colleague pretends to be PMP certified but never pursued it. What should you do?
A. Contact the police

B. Report to PMI

C. Ask colleague to pursue PMP

D. Report to HR department

Answer: B
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(Q183 (English

Construction abroad requires local permit (6018 weeks) but official offers $500 rush fee. What do
you do?

A. Pay $500

B. Donllt pay, wait 68 weeks

C. Negotiate lower fee

D. Ask team member to pay

Answer: A
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(Q184 (English

Subcontractorlls project manager asks you on a date, saying it wonllt affect business. What
should you do?

A. Accept if you want

B. Politely refuse

C. Ask your managerlls permission

D. Consult HR

Answer: B
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(Q185 (English

You have been assigned to a project for a new software product that you donllt believe will
succeed. You expressed your concerns, but the company insists you work on it. What should you
do?

A. Excuse yourself from the project.

B. Escalate to the customer.

C. Manage the project.

D. Resign from the project.

Answer: C
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(Q186 (English

High-profile stakeholders request major changes that raise project risk to an unacceptable level.
They insist on the changes despite your explanation. What should you do?

A. Explain to stakeholders their request cannot be fulfilled.

B. Stall until irrelevant.

C. Remove them from stakeholder list.



D. Call team meeting to resolve.

Answer: A

(awpell) 186 JIgul

06)9 .Jg1éio pé pgiwo (] eguitoll phlao @ayi 85 pai alilb gingoll aalnall alanl ye) pid
Sdeailal .alpueil cale lgpni . ogl el

Loagaii gany U agildb i ppb i

alp (p3 e albll amny (nis albloall .o

aalnall ulani anila go aoslotiwl .o

alanoll ol @upall go cloisl ade o

(A) 1 :aulol

(Q187 (English

You are on a product selection committee, and one product is from a company where your brother
is sales director. What should you do?

A. Disclose to the committee.

B. Excuse yourself quickly.

C. Remain impartial.

D. Vote against it for fairness.

Answer: A
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(Q188 (English

You discover you can save $300,000 by buying a software module instead of developing it
internally, but your consulting firm profits from billed hours. How should you resolve?

A. favor your team if within budget.

B. favor your employer.

C. Let the team vote.

D. favor the customer.

Answer: D
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(Q189 (English

Your current project is similar to one done 6 months ago where you created a feasibility study.
Reusing it would save time, but you signed an NDA. What should you do?

A. Disregard old study and create new.

B. Ask previous customer for permission.

C. Use it anyway since NDAs arenllt enforceable.

D. Ask project office for guidance.

Answer: B
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(Q190 (English

A conflict of interest should be:
A. Resolved quickly.

B. Disclosed openly.

C. Monitored carefully.

D. lgnored deliberately.

Answer: B
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(Q191 (English

During testing, multiple defects were identified in a product. The project manager overseeing this
productlls development can best use which tool to help prioritize the problems?

A. Pareto diagram.

B. Control charts.

C. Variance analysis.

D. Order of magnitude estimate.

Answer: A
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(Q192 (English

You are a manager of an aircraft design project. A significant portion of this aircraft will be
designed by a subcontracting firm. How will this affect your communication management plan?

A. More formal verbal communication will be required.

B. Performance reports will be more detailed.

C. More formal written communication will be required.

D. Official communication channels will significantly increase.

Answer: C
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(Q193 (English

What officially creates the project?
A. The project initiation document.

B. The kickoff meeting.

C. The project charter.

D. The statement of work (SOW).

Answer: C
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(Q194 (English

PRefer to the table below. What is the critical path

Dependency Task

Start

finish

Options:
A.Start WA @B AC 1A Finish.
B.Start WA EBHMIE Finish.



C.StartCIDEEHMIE Finish.
.D.Start I R G I Finish

(Answer: D (Start B F A G M Finish
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Q195 (English)

The Delphi technique is a way to:
A. Analyze performance.

B. Gather expert opinion.

C. Resolve conflict.

D. Estimate durations.

Answer: B
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Q196 (English)



The work authorization system makes sure that:

A. All the work and only the work get performed.

B. Work gets performed in the right order and at the right time.

C. Work is done completely and correctly.

D. functional managers are allowed complete control over who is assigned and when.

Answer: B
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Q197 (English)

Your team is hard at work on their assigned project tasks when one team member discovers a risk
that was not identified during planning risks process. What is the first thing to do?

A. Halt work on the project.

B. Update the risk management plan.

C. Look for ways to mitigate the risk.

D. Assess the risk.

Answer: D
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Q198 (English)

The estimate activity duration should be developed by:
A. The person or team doing the work.

B. The project manager.

C. Senior management.

D. The customer.

Answer: A
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Q199 (English)

The project plan should be all of the following except:

A. A formal document.

B. Distributed to stakeholders in accordance with the communication management plan.
C. Approved by all project stakeholders.

D. Used to manage project execution.

Answer: C
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Q200 (English)

You have been asked to take charge of project planning for a new project, but you have very



little experience in managing projects. What will be the best source of help for you?
A. Your education.

B. Your on-the-job training.

C. Historical information.

D. Your functional manager.

Answer: C
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Q201 (English)

The majority of the project budget expended on:
A. Plan project development.

B. Plan project execution.

C.Integrated change control.

D. Project communication.

Answer: B
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Q202 (English)
Corrective action is:

A. fixing past anomalies.



B. Anything done to bring the projectlls future performance in line with the project management
plan.

C. The responsibility of the change control board.

D. An output of project plan execution.

Answer: B
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Q203 (English)

Output direct and manage project execution include:
A. Deliverables and performance reports.

B. Deliverables and corrective action.

C. Deliverables and work performance information.

D. Performance reports and requested changes.

Answer: C
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Q204 (English)

Your original plan was to construct a building with six stories, with each story costing $150,000.
This was to be completed in four months; however, the project has not gone as planned. Two
months into the project, earned value is $400,000. What is the budget at completion?

A. $450,000.



B. $600,000.
C. $800,000.
D. $900,000.

Answer: D
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Q205 (English)

Project integration is primarily the responsibility of:
A. The project team.

B. The project manager.

C. Senior management.

D. The project sponsor.

Answer: B
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Q206 (English)
One of your team members has discovered a way to add an extra deliverable to the project that
will have minimal impact on the project schedule and cost. The project cost performance index is

1.3 and the schedule performance index is 1.5. The functionality was not included in the scope. How



should you proceed?

A. Conform to the project scope and do not add the deliverable.

B. Deliver the extra work to the customer since it will not increase their costs.
C. Reject the deliverable because you are behind schedule.

D. Ask senior management for a decision.

Answer: A
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Q207 (English)

If a project manager is unsure who has the authority to approve the changes in project scope,
she should consult:

A. The customer.

B. The scope statement.

C. The PMO.

D. Requirements documentations.

Answer: D
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Q208 (English)

An end user has just requested a minor change to the project that will not impact the project
schedule. How should you, the project manager, respond?

A. Authorize the change quickly to ensure that the schedule can truly remain unaffected.

B. Deny the change to help prevent scope creep.

C. Evaluate the impact of the change on the other project constraints.

D. Submit the change request to the customer for approval.

Answer: C
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Q209 (English)

You overhear a casual conversation between two team members in which one confides to the
other some problems he is having in completing his part of the project work. You realize that the
work being discussed is on the projectls critical path and the information you overheard could
mean a significant delay for your project. What should you do?

A. Let the team member know that you heard his conversation and discuss the work problems with
him immediately.

B. Begin analyzing ways to compress the project schedule in anticipation of the potential delay.

C. Ask a third team member to get involved immediately and encourage the two other team
members to come to you with the delay.

D. Ask human resources for help in resolving the problem.

Answer: A

(auypoll) 209 J1qul
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Q210 (English)

In which group of processes should the project manager be assigned his or her role in the project?
A. Initiating.

B. Planning.

C. Executing.

D. Controlling.

Answer: A

(awgall) 210 Jlguwl
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Q211 (English)

A project charter should always include:

A. Historical information.

B. The business needs underlying the project.
C. A detailed budget.

D. The scope management plan.

Answer: B

(auypoll) 211 J1guul
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Q212 (English)

Your project team has just received the sponsorlls approval for the scope statement. What is the
next step that needs to be taken?

A. Develop the product description.

B. Create a WBS.

C. Hold the kickoff meeting.

D. Create the network diagram.

Answer: B

(awgall) 212 Ylguwl
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Q213 (English)

Which of the following is not an input into define scope process?
A. Accepted deliverables.

B. Organizational process assets.

C. Project charter.

D. Requirements documentation.

Answer: A

(auyell) 213 Jlguul
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Q214 (English)

The key function of the project managerlls job in project integration is:
A. Minimizing conflict to promote team unity.

B. Making key decisions about resource allocation.

C. Communicating with people of various backgrounds.

D. Problem-solving and decision-making between project subsystems.

Answer: D
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Q215 (English)

In which of the following documents could the sponsor find work package descriptions?
A. The WBS dictionary.

B. The project charter.

C. The project management plan.

D. The required documents.

Answer: A

(awgall) 215 Jlguwl
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Q216 (English)

The process in which project deliverables are reviewed and accepted is called:



A. Collect requirements.
B. Verify scope.

C. Initiation.

D. Performance reports.

Answer: B

(el 216 JIgull
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Q217 (English)

A SOW is:

A. A type of contract.

B. A description of the projectlls product.

C. Necessary for every project.

D. A description of the part of a product to be obtained from an outside vendor.

Answer: D

(auypoll) 217 Ylgudl
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Q218 (English)

A commercial real-estate developer is planning to build a new office complex. He contracts with a
construction firm to build one of the buildings for the actual cost of providing the materials and
services plus a fixed fee for profit. What type of contract does this scenario represent?

A. Independent vendor.



B. fixed price.
C. Cost-reimbursable.
D. Time and material.

Answer: C

(awpall) 218 JIgul
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Q219 (English)

You and your spouse both work for large companies in different industries. However, one day you
learn that your company will be soliciting bids for a project and your spousells company intends to
bid. Your spouse will not be involved in the building process or any of the work it might produce if
won. What should you do?

A. Request to be transferred off the project.

B. Inform management of the situation.

C. Say nothing and go on with the bidding process.

D. Say nothing but setup a system of checks and balances to ensure that your team selects the
contractor impartially.

Answer: B
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Q220 (English)

Which of the followings is not a purpose that create WBS serves?

A. To increase the accuracy of estimates.

B. To help facilitates roles and responsibilities.

C. To document the relationship between the product and the business need.
D. To define a baseline for project performance.

Answer: C
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Q221 (English)

You are assigned to replace a project manager on a large software project for a
telecommunication company in the middle of executing the work. Portions of the software are
being supplied by subcontractors working at your companylls offices. You would like to know what
performance metrics are going to be tracked for these contract workers. Where could you find
such information?

A. The project charter.

B. The procurement management plan.

C. The WBS.

D. The organizational chart.

Answer: B

(awpell) 221 Jlguul
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Q222 (English)

Which of the following is not a type of contract?
A. Cost-revisable.

B. fixed-price.

C. Cost-reimbursable.

D. Time and material.

Answer: A

(awpall) 222 Jigull
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Q223 (English)

Your team has identified a component that they need for a project. There is some concern that
they have never constructed a component like this one, but there are similar components
available from sellers. Which of the following procurement activities would be most appropriate to
perform?

A. Solicitation.

B. Make-or-buy analysis.

C. Benefit/cost analysis.

D. Source selection.

Answer: B

(auypoll) 223 J1gul
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Q224 (English)

The activity list serves as an input to:
A. Create WBS.

B. Define activity.

C. Estimate activity duration.

D. Resource planning.

Answer: C

(aupoll) 224 Jlgudl
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Q225 (English)

The person or group that formally accepts the projectlls product is:
A. The quality team.

B. The customer.

C. The project team.

D. Senior management.

Answer: B

(awyell) 225 JIguul
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Q226 (English)

The schedule activity list:

A. Serves as an extension of the WBS.

B. Is synonymous with WBS.

C.ls used to create the project scope statement.
D.Is included in the project charter.

Answer: A

(awyoll) 226 JIgul
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Q227 (English)

float refers to:

A. A method for decreasing risk on a project.

B. How long an activity can be delayed without affecting the critical path.

C. A time lapse between a project communication and the response that follows.
D. The differences between the budgeted cost and actual cost.

Answer: B

(awpoll) 227 JIgul
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Q228 (English)

If a project scope requires goods or services that must be obtained outside the project



organization, what management process will be used in obtaining them?
A. Project contract management.

B. Project solicitation management.

C.Project procurement management.

D. Project source management.

Answer: C

(awpall) 228 Jigull
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Q229 (English)

You are producing a training video for your companylls human resource department. After the
project is underway, a member of senior management requests that you use a copyrighted piece
of music as background in the video. This video will not be sold or viewed outside of your company.
As the project manager, you should:

A. Use the song as requested by the management.

B. Investigate obtaining permission from the music publisher to use the song.

C. Submit the request to the change control board.

D. Produce the video without the song as specified in the project plan.

Answer: B
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Q230 (English)

What is the most important function the project manager serves?
A. Staffing.

B. Motivating.

C. Team building.

D. Communicating.

Answer: D

(awyell) 230 Jlgul

Scquitnll pao lg) pgay dathg aol (no bo
(Staffing) caubqill i

(Motivating) paaill .u

(Team building) Gupall Uy .o
(Communicating) Jnill .o

(D) 5 :auloUl

Q231 (English)

If a task has been estimated at 0=4 days, P=9 days, and M=7 days, what is the standard
deviation?

A.5/6 of a day.

B. 6.83 days.

C. 1/3 of a day.

D. 1/2 of a day.

Answer: A

(auypoll) 231 Ylgul
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Q232 (English)

Refer to the below table. If task H were increased from 3 to 7, what impact would this have on the

Pproject
Duration Dependency Task
0 None Start
3 Start A
e A B
e B C
4 Start D
1 D E
S Start £
7 f 6
703 B.E H
4 C.G.H
0 finish
Options:

A. The project would finish later.
B. The project would finish earlier.
C. The schedule risk would decrease.

D. The critical path would change, but the finish date would not change

Answer: D

(awyoll) 232 Jlgul
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Q233 (English)

All of the following are needed for creating the project budget except:

A. Estimates costs

B. WBS

C. Cost management plan
D. Deliverables

Answer: D

(awpel) 233 Jlgul



2Ll egpitoll ayiljyo Litil) aglho caly lo @100
(Estimates costs) cadlail ailpyadi i

(WBS) Jaoll auudi Jaus .o

(Cost management plan) caylaill ¢jla] abs .o
(Deliverables) cilopanll .o

() 2 :aulol

Q234 (English)

The companylls CI0 has requested a meeting with you and two other project managers for a
status update on your various projects. What is the best document you can bring with you to this
meeting?

A. The milestone chart for this project.

B. The network diagram for this project.

C. Copy of the most recent status reports from the team members.

D. The project charter.

Answer: A

(awyall) 234 JIgull
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Q235 (English)

Resources are estimated against which project entity?
A. The work packages.

B. The schedule activities.

C. The elements of scope.

D. The level set by the project office.

Answer: B

(awyell) 235 Jlgudl
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Q236 (English)

Analogous estimating uses:

A. Estimates of individual activities rolled up into a project total
B. Actual costs from a previous project as a basis for estimates.
C. Computerized estimating tools.

D. Parametric modeling techniques.

Answer: B

(auyoll) 236 JIgul
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Q237 (English)

If the optimistic estimate for an activity is 15 days and the pessimistic estimate is 25 days, what
is the realistic estimate?

A. 19 days.

B. 20 days.

C. 21days.

D. Unknown.

Answer: D

(auypoll) 237 J1guul
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Q238 (English)

What does a standard deviation tell about a data set?

A. How diverse the population is.

B. The mean of the population as it relates to the median.
C. The specification limit of the population.

D. The range of data points within the population.

Answer: A

(auypoll) 238 JIqul
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Q239 (English)

Quality management theory is characterized by which of the following statements:
A. Inspection is the most important element for ensuring quality.

B. Planning for quality must be emphasized.

C. Contingency planning is a critical element of quality assurance.

D. Quality planning quantifies efforts to exceed customer expectations.

Answer: B

(auypoll) 239 JIgul
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Q240 (English)

Which of the following is not emphasized in project quality management?
A. Customer satisfaction.

B. Team responsibility.

C. Phases within processes.

D. Prevention over inspection.

Answer: C

(awpoll) 240 JIgull
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Q241 (English)

Scatter diagrams, flowcharts, run diagrams, control charts, and inspection are all techniques of
what quality process?

A. Planning quality.

B. Perform quality control.

C. Perform quality execution.

D. Perform quality definition.

Answer: B

(awypell) 241 Jlguul
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Q242 (English)

Which of the following is not an input to plan quality process?
A. Enterprise environmental factors.

B. Organizational process assets.

C. Quality baseline.

D. Stakeholder register.

Answer: C

(auypoll) 242 JIguull
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Q243 (English)

The procurement management plan provides:

A. Templates for contracts to be used.

B. A formal description of how risks will be balanced within contracts.
C. A description of procurement options.

D. The types of contracts to be used for items being procured.

Answer: D

(auyoll) 243 Jlgudl
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Q244 (English)

Ultimately, responsibility for quality management lies with the:



A. Project team.

B. Quality team.
C.Project manager.

D. functional manager.

Answer: C

(aupoll) 244 JIgull
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Q245 (English)

All of the following are tools used in perform quality control except:
A. Benchmarking.

B. Pareto charts.

C. Histograms.

D. Statistical sampling.

Answer: A

(awpall) 245 JIgull
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Q246 (English)

Control charts are:

A. Used in product review.

B. Used to chart a projectlls expected value.

C.Used to determine if a process is in control.



D. Used to define a statistical sample.

Answer: C

(auyell) 246 JIgudl
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Q247 (English)

Which of the following statement regarding the stakeholders is true:

A. They have some measurable financial interest in the project.

B. Their needs should be either qualified or quantified.

C. Key stakeholders participate in the creation of the stakeholder management plan.
D. They may either be positively or negatively affected by the outcome of the project.

Answer: D
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Q248 (English)

A probability and impact matrix is useful for:
A. Identify risk.

B. Perform qualitative risk analysis.

C. Plan risk response.

D. Monitor and control risk.

Answer: B
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Q249 (English)

Your company must choose between two different projects. Project X has a net present value of
$100,000. Project Y has a net present value of $75,000. What is the opportunity cost of choosing
project X?

A. $100,000.

B. $75.,000.

C. $25,000.

D. $50,000.

Answer: B
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Q250 (English)

A risk register is created during:
A. Risk management planning.

B. Monitor and control risk.

C. Risk assessment.

D. Identify risks.

Answer: D



(awpall) 250 JIgul

:JU5 (Risk register) pblaoll Jouw olac] ol
sblanll )] bhuhAj i

gy p8Aillg jblaall dudlio .o

.(Risk assessment) jblaoll audi.o
(Identify risks) ytblaoll 2yaaj .o

(D) 5 @l

Q251 (English)

A workaround is:

A. A technique for conflict management.

B. An adjustment to the project budget.
C.Aresponse to unplanned risk event.

D. A non-critical path on the network diagram.

Answer: C

(awyell) 251 JIguul

S(Workaround) Jyal Jallgo o
alelnll 6jlo8 wglwl i

.cquitoll aliljyo cnle Jyaei .ol

a bhAo e phlao danl alaiwl o
A5ull hhAao (na opo e juuo o
(©) o :auloyl

Q252 (English)

You are managing a team developing a software product. You have contracted out a portion of

the development. Midway through the project you learn that the contracting company is

entering chapter 11. A manager from the subcontracting company assures you that the state of

the company will not affect your project. What should you do?

A. Perform additional risk response planning to control the risk this situation poses.

B. Stop all pending and future payments to the subcontractor until the threat is fully assessed.

C. Contact your legal department to research your options.

D. Meet with senior management to apprise them of the situation.

Answer: A
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Q2583 (English)

In a functional organization:

A. Power primarily lies with the project manager.

B. Power primarily lies with the functional manager.

C. Power is blend between functional and project manager.
D. Power primarily lies with the project office.

Answer: B
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Q254 (English)

The process of identifying, documenting, and assigning roles, responsibilities, and reporting
relationships for a project is called:

A. Project interfacing.

B. Organizational breakdown.

C. Staff management plan.

D. Human resource planning.

Answer: D
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Q255 (English)

A responsibility assignment matrix (RAM) does not indicate:
A. Who does what on the project.

B. Job roles for team members.

C. Job roles and responsibilities for groups.

D. Project reporting relationships.

Answer: D
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Q256 (English)

A manager who follows theory X believes:

A. Employees can be trusted to direct their own efforts.

B. Project success requires that project objectives must align with company objectives.
C. Workers must be closely supervised because they dislike work.

D. Effective quality management requires the use of performance measurements.

Answer: C
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Q257 (English)

Which of the following is not constructive team role?
A. Withdrawer.

B. Information seeker.

C. Clarifier.

D. Gate keeper.

Answer: A
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Q258 (English)

If a project team is experiencing conflict over a technical decision what is negatively affecting
project performance, the best source of power the project manager could exert to bring about
cooperation would be:

A. Legitimate.

B. Penalty.

C. Referent.

D. Expert.

Answer: D
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Q259 (English)

Which of the following types of conflict resolution provides only a temporary solution to problem?
A. Withdrawal.

B. Compromising.

C. forcing.

D. Problem-solving.

Answer: C
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Q260 (English)

The communication management plan:

A. Should include the performance reports.

B. Should always be highly detailed.

C. Should include the projectlls major milestones.

D. Should detail what methods should be used to gather and store information.

Answer: D
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Q261 (English)

When communication links are undefined or broken:

A. The communication management plan should be rewritten.
B. Conflict will increase.

C. The project managerlls power will decrease.

D. Project work will stop.

Answer: B
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Q262 (English)
for two days you have been asking a member of your team for a status report on one of the key
deliverables of your project. You finally get the report thirty minutes before you are to meet
with your manager for a project update. A quick review of the status report reveals some

information that you know is incorrect. What action should you take?

A. fix what you can in the report before meeting starts and try to steer discussion away from
the areas you donllt have time to fix.

B. Bring your team member with you to the meeting and confront her with the inaccuracies in her
report.

C. Reschedule the meeting for a later date and have the team member rewrite the report.

D. Cancel the meeting, fix the report yourself, and circulate the new report to senior
management in lieu of the original meeting.

Answer: C
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Q263 (English)

There were 10 people on your project, and 5 more people were added last week. How many
additional paths of communication were created?

A. 10.

B. 45.

C. 60.

D. 105.

Answer: C
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Q264 (English)

A project manager is having difficulty getting resources from a functional manager. Which of the
following would be the most appropriate to help resolve this problem?

A. Senior management.

B. The customer.

C. Key stakeholders.

D. The sponsor.

Answer: A
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Q265 (English)

Communicating via email is considered:
A. formal written communication.

B. Informal written communication.

C. formal electronic communication.
D. Informal non-verbal communication.

Answer: B
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Q266 (English)

Smoothing, forcing, and withdrawing are all forms of:
A. Organizational power.

B. Communication.

C. Conflict resolution.

D. Schedule compression.

Answer: C
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Q267 (English)

You have a team member who is habitually late to meeting with the customer. The customer has
expressed dissatisfaction with the situation and has asked you to resolve it. Your best course of
action is:

A. Issue a formal written reprimand to the team member.

B. Meet with the team member to discuss the problem and ask for solutions.

C. Meet with the team member and the customer to promote further understanding.

D. Email the team member to bring the situation to his attention.

Answer: B
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Q268 (English)

You are midway through managing a project with a sponsor-approved budget of $850,000. Using
earned value management, you have determined that the project will run $125,000 under budget.
You have also determined that if the project is delivered that far under budget you will not make
your bonus since you are compensated for the hours you bill. What is your best course of action?
A. Add extra features to the project scope that take advantage of the available budget, and
increase customer satisfaction.

B. Meet with the project sponsor or inform him of your findings.

C. Maintain current project activities, and bill for the original amount.

D. Ask the sponsor to approve additional features, given the available budget.



Answer: B
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Q269 (English)

The most important factor in project integration is:
A. A clearly defined scope.

B. Timely corrective action.

C. Team buy-in on the project plan.

D. Effective communication.

Answer: D
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Q270 (English)
You are a project manager of a software development firm. You are in the final stages of
negotiation with a third-party vendor whose product your company is considering implementing.
You discover by chance that one of your employees has scheduled a product demonstration with
herself, the vendor, and your boss, but you have not been notified about the meeting. What do

you do?



A. Show up at the meeting unannounced and discuss the situation with the employee later in
private.

B. Report this employeells actions to your boss using the companylls formal reporting procedure.
C. Discuss the employeells actions with her before the meeting.

D. Report the employeells actions to her functional manager.

Answer: C
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Q271 (English)

Your team has encountered recent unanticipated problems. After extensive earned value analysis
you determined that the project has a schedule performance index (SPI) of 0.54 and a cost
performance index (CPI) of 13. Additionally, your customer has just requested a significant
change. What should you do?

A. Alert management about the schedule delays.

B. Alert management about the cost overruns.

C. Alert management about the scope changes.

D. Reject the requested change.

Answer: A
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Q272 (English)

You are in the middle of bidding on a large and complex project that will produce a great deal of
revenue for your company should you win the bid. The buyer has specified several conditions that
accelerate some of the key dates and milestones. You have done extensive planning with your
team and have determined that there is no way that your organization can perform the required
scope of work under these new deadlines. Your boss, however, is not convinced that you are right
and is also concerned that if you donllt agree to the new dates you will lose the contract. What
should you do?

A. Appeal to the buyer for additional time or estimate.

B. Ask your boss to make the commitment on behalf of the team.

C. Adhere to the estimate your team has made.

D. Agree to the dates the customer has requested.

Answer: C
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Q273 (English)

Your company is soliciting bids from advertising firms for marketing of the product your project
will produce. A sales representative from one of the bidding firms calls to invite you to attend a
sporting event with him at his expense so that he can ask you some questions about the product
to help him put together his bid. How should you respond?

A. Attend the event and discuss the project with the representative.

B. Accept his offer but tell him in advance that you cannot answer questions about the project.



C. Attend the event and answer all questions, but then write a report on the questions and
answers and submit the RfQ to the other bidders.

D. Reject the offer and invite the sales representative to pose his questions at the bidders/
conference.

Answer: D
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Q274 (English)

Analogous estimating is also called:
A. Vendor bid analysis.

B. Bottom-up estimating.

C. Scalable model estimating.

D. Top-down estimating.

Answer: D
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Q275 (English)

You are beginning construction of a bridge in another country when you discover that this



country requires that one of its licensed engineers sign off on plans before you break ground.
Your senior engineer on the project is licensed in your own country and is probably more qualified
than anyone to sign of f on this, and their engineer is not available to review the plans for another
three weeks. The customer has stressed that this project must not be delayed. What do you do?
A. Have your engineer sign off on the plans, forward them to the other engineer and begin
construction.

B. Have your engineer sign off on the plans since he is licensed in your country and begin
construction.

C. Wait to begin construction until the countrylls engineer signs of f on the plans.

D. forward the plans to the countrylls engineer for his signature and start construction.

Answer: C
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Q276 (English)
PRefer to the below table. What is the length of the critical path

Duration Activity
1 Start 1A
3 ADB
4 B@AC
3 ADE

1 EDF



Duration Activity

ceb
EBC
BEF
UG
G [ Finish
D [ Finish
A. 16
B. 21
C.22
D.23
Answer: D
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Q277 (English)

You are managing the installation of a new oil well pump in a very productive well. Due to very
efficient management and significant personal effort, the project is completed several days
ahead of schedule. The customer is ecstatic and offers you a $2,500 [Mlappreciation fee.ll What
should you do?

A. Accept the fee but notify management.

B. Do not accept the fee and notify the management.

C. Put the gift into the projectlls reserve fund.

D. Donate the gift to charity.

Answer: B
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Q278 (English)

Decomposition is a technique used in:



A. Define activity.

B. Estimate activity duration.
C. Sequence activity.

D. Develop schedule.

Answer: A
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Q279 (English)

A fixed-price contract offers the seller:
A. A higher risk than the buyer.

B. A risk level equal to that of the buyer.
C. A lower risk than the buyer.

D. Reimbursement of actual costs.

Answer: A
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Q280 (English)

The individual on a project with limited authority who handles some communication and ensures
that tasks are completed on time is:

A. The project manager.

B. The project leader.



C. The project coordinator.
D. The sponsor.

Answer: C
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Q281 (English)

At what point in project planning would you decide to change the project scope in order to avoid
certain high-risk activities?

A. Identify risk.

B. Qualify risk.

C. Monitor risk.

D. Plan response for risk.

Answer: D
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Q282 (English)

Which of the following statements is not true for integration management?

A. Integration is primarily concerned with making sure various elements of the project are
coordinated.

B. Integrationis a discrete process.



C. The PMIS is used to support all aspects of the project.
D. The project manager must make tradeoffs between competing project objectives.

Answer: B
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Q283 (English)

Maslowlls Hierarchy of Needs theory concludes that:

A. Higher needs cannot be realized until the lower needs are satisfied.

B. Hygiene factors are those that provide physical safety and emotional security.
C. Psychological needs for growth and fulfillment are ineffective motivators.

D. The greater the financial reward, the more motivated the workers will be.

Answer: A
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Q284 (English)

A project is all of the following except:

A. Progressively elaborated.

B. Has never been done by this company before.
C.Interrelated activities.

D. Strategic to the company.

Answer: D
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Q285 (English)

Your manager has asked to review the quality management plan with you to ensure that it is being
followed appropriately. In which process is your boss involved?

A. Perform quality control.

B. Perform quality management.

C. Plan quality.

D. Perform quality assurance.

Answer: D
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Q286 (English)

Variance analysis is a tool used to:

A. Measure variance between the actual work and the baseline.

B. Measure variance between planned value and schedule variance.
C. Measure variance between earned value and actual cost.

D. Measure variance between earned value and cost variance.

Answer: A
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Q287 (English)

In a strong matrix organization:

A. More power is given to the functional manager.
B. More power is given to the project manager.

C. More power is given to the project expeditor.
D. More power is given to the project coordinator.

Answer: B
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Q288 (English)

The performance assessments are made during which process:
A. Develop human resource plan.

B. Acquire project team.

C. Develop project team.

D. Manage project team.

Answer: C
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Q289 (English)

The project scope statement is typically:

A. A definitive list of all the work and only the work to be done on the project.
B. Issued by senior management.

C. Progressively elaborated.

D. Defined before the functional specification.

Answer: C
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Q290 (English)

Which of the following is a negative team role?
A. Initiator.

B. Information seeker.

C. Devillls advocate.

D. Gate keeper.

Answer: C
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Q291 (English)

During direct and manage project team, your project team should be:
A. focused on making sure earned value is equal to planned value.

B. Communicating work results to the stakeholders.

C. Ensuring that all project changes are reflected in the project plan.
D. Executing the work packages.

Answer: D
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Q292 (English)

The system that supports all aspects of the project management processes from initiating
through closing is:

A. Information technology.

B. The information distribution system.

C. The PMIS.

D. The work authorization system.

Answer: C
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Q293 (English)



In a typical project, most of the resources are utilized and expended during:
A. Initiation processes.

B. Planning processes.

C. Executing processes.

D. Monitoring and controlling processes.

Answer: C

(auyell) 293 Jlguul

1JUb ojlgall abheo Glailg plaaiwl ol .cposgaill egpitoll (no
el aldae |

hihaill aldoce .o

.0481illg awalpoll aldoc 5

(C) 2 :auloll

Q294 (English)

The project manager is taking the product of his project to his customer for verification that it
meets the scope. The customer and the project manager are working together to carefully
compare the product to the projectlls scope to ensure that work was done to specification. The
tool that the customer and the project manager are using is:

A. Inspection.

B. Perform quality assurance.

C. Perform quality control.

D. User acceptance testing.

Answer: A
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Q295 (English)

Which of the following is not a project quality management process?
A. Perform quality assurance.

B. Plan quality.

C. Quality improvement.

D. Perform quality control.

Answer: C
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Q296 (English)

Schedule constraints would likely include all of the following except:
A. Imposed dates.

B. Key events.

C. Major milestones.

D. Leads and lags.

Answer: D
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Q297 (English)

Which of the following choices fits definition for benchmarking?



A. Comparing planned results to actual results.

B. Comparing actual or planned results to those of other projects.
C. Statistical sampling of results and comparing them to the plan.
D. Comparing planned value with earned value.

Answer: B
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Q298 (English)

The activity list should include:

A. The scheduled activities on the project that are on the critical path.
B. A subset of all schedule activities.

C. All of the schedule activities defined on the project.

D. A superset of the schedule activities for this and related projects.

Answer: C
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Q299 (English)

Close project should be performed:

A. At the end of each phase or the end of the project.
B. Before formal acceptance of the projectlls product.

C. As a safeguard against risk.



D. By someone other than the project manager.

Answer: A
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Q300 (English)

Release criteria for team members is defined as part of:
A. The organizational management plan.

B. The human resource management plan.

C. The staffing management plan.

D. The work authorization system.

Answer: C
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Q3071 (English)

The term lslackll is also known as:
A. Lao.

B. Lead.

C. float.

D. free float.

Answer: C



(awypell) 301 JIgul

00wl Ll cajoj “Slack” albno
(Lag) pslil i

(Lead) pyaaill.g

(float) cniopl yajlall .o
(free float) jall yailall .o

(©) 2 @bl

Q302 (English)

Which of the following best describes the project plan:

A. A formal, approved document used to guide project execution, control, and closure.

B. The aggregate of all work performed during planning.

C. The WBS, schedule management plan, budget, cost management plan, and quality management
plan.

D. The document that outlines all of the work and only the work that must be performed on a
project.

Answer: A
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Q303 (English)

Which of the following is not a primary goal of integrated change control?
A. Influencing factors that cause change.

B. Determining that a change has occurred.

C. Managing change as it occurs.

D. Denying change whenever possible.

Answer: D
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Q304 (English)

You are providing a project management services in a foreign country. In an attempt to improve
employment, this country has enacted a law limiting the number of hours foreigners may work per
week. You are behind schedule on the project and need to work overtime. What is the best way to
handle this situation?

A. Work the overtime only if your own countrylls laws do not prohibit this.

B. Work the overtime if it is not constituted overtime by your countrylls definition.

C. Donllt work the overtime since it is prohibited by law.

D. Speak with legal representation to find out if the law is enforceable.

Answer: C
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Q305 (English)

fThe features and attributes that characterize a productll describes which of the following?
A. The product scope.

B. The project scope.

C. The WBS.

D. The critical success factors.

Answer: A



(awyoll) 305 JIgul

Scnly oo (pl cani “aiioll jpoi (il yailnallg aljoll”
(Product scope) aiinll glhj i

(Project scope) cqpinll glhi .o

(WBS) Joeoll pwai Jare .o

(Critical success factors) anjall plaill Jolge .o

(A) 1ol

Q306 (English)

You have assumed responsibility for a project that has completed planning and is executing the
work packages of the project. In one of your first status meetings, a member of the project
begins to question the validity of the duration estimates for a series of related tasks assigned to
her. What action should you take first?

A. Remind the team member that planning has been completed and ask her to do her best to
adhere to the estimate.

B. Temporarily suspend execution and ask the team member for updated estimates.

C. Review the supporting detail for the estimates contained in the project plan to understand how
the estimate were originally derived.

D. Ask another team member with expertise in this area to perform a peer review on the
estimates to validate or invalidate the concern.

Answer: C
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Q307 (English)
Approved budget increases should be:

A. Added to the schedule management plan.



B. Added to the projectlls cost performance baseline.
C. Added to the projectlls reserve fund and used only if needed.
D. Added to the lessons learned.

Answer: B
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Q308 (English)

An organization where the project manager is in charge of the projects and has primary
responsibility for the resources is:

A. functional.

B. Projectized.

C. Matrix.

D. Hierarchical.

Answer: B
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Q309 (English)
As part of your project, your customer needs a software module to handle credit card payments.
Senior management informs you that they already own the rights to such a module and would like
for you to use this piece of software on the project; however, upon investigation, you determine

that your companylls software is not a good match for this customerlls needs. After informing



the senior management, they maintain their request that you use their own software. How should
you resolve this conflict?

A. Look to build or procure another solution for the customer.

B.Act in favor of the performing organization.

C. Use your companylls software module as requested as long as it does not jeopardize the
project.

D. Involve an objective outside party to help resolve the dispute.

Answer: A
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Q310 (English)

Leads and lags are evaluated and adjusted in which process?
A. Performance reporting.

B. Estimate cost.

C. Control schedule.

D. Develop schedule.

Answer: D
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Q311 (English)

My manager constantly overloads me with projects. How can | get her to see that Iflve reached
my capacity?

A. Refuse to work on more than eleven projects at once, then select your favorites.

B. Hire a third-party contractor to help you, and present your manager with the bill.

C. Do fewer project management processes on each project to save your-self time.

.D. Track your project management work just like other project team activities

Answer: D. Track your project management work just like other project team activities
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Q314 (English)

My organization is small and doesnlt have much money for communications tools. With the new
interest and focus on social networking sites like facebook and Twitter, would that be a way for
my organization to stretch its budget?

A. It depends on the age of your employees. Only people under the age of 30 use these sites.

B. A smart move is to avoid social networking, as it is only for personal entertainment.

C. Social networking can be used to great advantage by most organizations, but caution is
necessary.

.D. You should create your own social site. What is on the site is immaterial

Answer: C. Social networking can be used to great advantage by most organizations, but caution

is necessary
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Q315 (English)

| read that tomorrowlls jobs havenllt been created yet. How can | prepare myself to compete as a
project manager in the future if | donllt even know what the jobs will be?

A. focus on personal skills and development, rather than only training for todaylls job roles.

B. Watch science fiction movies and television shows to see future occupations revealed.

C. Once you have a project management title, your job is secure no matter what.

D. Obtain multiple credentials and certifications in every field, so you are guaranteed a job

regardless of how the job market changes

Answer: A. focus on personal skills and development, rather than only training for todaylls job

.roles
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Q316 (English)

Our group struggles with designing and implementing a communications plan that is effective and
reaches the right audiences. What goes into a design that is easy to use and effective?

A. Take out the list you used on your last project and update the names and e-mails.

B. Explore a deeper knowledge of the communications field before starting your design.

C. Ask for an administrative assistant so you can create custom contacts for each stakeholder.

.D. Have a website where everyone in the project has equal access to all information

Answer: B. Explore a deeper knowledge of the communications field before starting your design
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Q317 (English)

We often have change requests from the customer after a project is already in motion. How do
we effectively charge for that extra work?

A. Sum the hourly rate of each employee who completes a new activity, and charge that amount in
a time and materials contract.

B. Calculate the cost of the changes and add the profit margin, original project changes, risk and
your project management time.

C. Divide the estimated hours of the original project into the contract amount and charge that
amount per hour.

.D. Write the contract so that each potential added feature comes at a fixed price cost

Answer: B. Calculate the cost of the changes and add in the profit margin, original project

.changes, risk and your project management time
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Q318 (English)

The training budgets in my organization have been seriously cut. Are there any clever ways | can
get training for me and my team?

A. Decide why you want training to help yourself find a creative way to get it.

B. Insist on the same training opportunities youllve had for the past five years or you will quit.

C. Accept that you cannot get any training until the organization profits reach 27%.

D. Ask your manager to redirect his or her discretionary departmental funds for training

purposes

Answer: A. Decide why you want training to help yourself find a creative way to get it
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Q319 (English)

My organization absorbs costs and doesnllt want me to use change requests when customers add
additional scope to my fixed-price projects. | look like an inept project manager, never meeting
time and budget projections. How can | accurately track my accomplishments?

A. Refuse to do the extra work for the customer without a signed change request.

B. Separate out time and cost for the mandatory overages and show management.

C. Explain directly to the customer why you and your team canllt include the changes.

.D. find a job at another organization that does not use fixed-price contracts

Answer: B. Separate out time and cost for the mandatory overages and show management
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Q320 (English)

The project managers in my organization tend to work in an isolated fashion. How can | get them
to reqularly break out of their cubicles and share information?

A. Request that your project sponsor insist on weekly meetings to share techniques.

B. Start in an informal way and let the communication become more formal over time.

C. Ask the corporation to bring in a communication consultant to create a website.

.D. Bring food to work and exchange it for creative project management tips

Answer: B. Start in an informal way and let the communication become more formal over time
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Q321 (English)

Management has asked me to research and present a list of project statistics gathered from
both inside and outside the company. What do | collect and how do | present it?

A. Before you collect or distribute any statistics, ask management how they will be used.

B. Project statistics should not be shared with management, as they wouldnllt understand them
anyway.

C. The only way to accurately capture and show project statistics is with automated software.

D. Collect the daily statistics from all your projects. Plan three hours a day to assemble data and

.prepare charts

Answer: A. Before you collect or distribute any statistics, ask management how they will be used
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Q322 (English)
Every project manager knows you need a little extra budget for project emergencies, but how do

| show and manage it in a professional way?



A. There should be no extra budget in a project. Always ask for extra funds via a change request.
B. Keep any extra, unspent project dollars from earlier projects in your desk drawer for
emergencies.

C. The only project money that needs to be tracked and documented is that which is in the original
project budget baseline.

D. You can choose how you track and use extra project funds based on your organization and the

type of project

Answer: D. You can choose how you track and use extra project funds based on your organization

.and the type of project
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Q323 (English)

My team is confused. We see terms that appear to be interchangeable, but other teams treat
them as though they have specific, unique meanings. How can we find out what the terms mean?
A. Have your project team vote on what definitions they would like to use for common terms.

B. The best way to differentiate between similar project terms is to ask the project sponsor.

C. There is no one source that defines every project management term, but the PMBOK® Guide
glossaryis a great resource for accurate definitions of many of them.

D. Project management terms have different meanings in different countries, so consult your

.nearest PMI community

Answer: C. There is no one source that defines every project management term, but the PMBOK®



.Guide glossary is a great resource for accurate definitions of many of them
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Q324 (English)

Is there a template that is good for taking notes to develop the scope of work?

A. No template is necessary; just write down what your customer wants.

B. The scope of every project is the same: cost, time and quality. Thatlls your template!

C. A perfect template isnllt as critical to scope development as exceptional communication with
stakeholders.

D. A useful scope of work template is available only to PMP® certified project managers

Answer: C. A perfect template isnlit as critical to scope development as exceptional

.communication with stakeholders
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Q325 (English)

IZm confused. There are controls | should develop based on the PMBOK® Guide Quality Control
process, but other project controls are needed in other Knowledge Areas. How do | write a Quality
plan that covers them all?

A. Write your Quality plan first, then plan the project activities to fit into this roadmap.

B. Only the controls shown in the Project Quality Management Knowledge Area must be developed.
C. You donllt need to cover all quality control processes in your Quality plan, so create your own
Quality project document checklist.

D. Every action on a project is considered a quality control process, so you are covered

Answer: C. You donllt need to cover all quality control processes in your Quality plan, so create

.your own Quality project document checklist
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Q326 (English)

ZNo matter how careful | am, the estimated timeframes for my projects are always too long. What
am | doing wrong?l

A. Cut each team memberlls estimate by 10%, as they have probably padded the time.

B. Never give an estimate as to how long it will take to complete a project.

C. Rlways plan at least one hour of overtime per employee per day.

.D. follow a checklist of suggestions to quickly see ways to reduce the schedule time

Answer: D. follow a checklist of suggestions to quickly see ways to reduce the schedule time
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Q327 (English)

f0nce again, | need to reduce the budget. Is there a systematic way to begin?l

A. Cut any travel, transportation, training and recognition expenses by 50%.

B. Immediately ask for more money, otherwise the project cannot be done.

C. Look at your budget systematically to locate errors and pinpoint places to cut.

.D. Put the extra amount needed on your personal debit card

Answer: C. Look at your budget systematically to locate errors and pinpoint places to cut
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Q328 (English)
| work as a third-party programmer for AnyNameS| Systems Integrators on a time and materials
basis. However, | know that the software | develop is being sold to their customer, BigTime
Customer, on a fixed price basis. What should | do in this situation to lower my risk that this

three-way contract will not go smoothly?

A. Convince BigTime you should do their work directly, bypassing AnyNameS| altogether.



B. Run your costs as high as you can to teach AnyNameSI not to try to profit from your work.
C. Refuse this contract, as the risks are too high for you to incur.
D. Tell AnyNameS| you need to have firm requirements documents, a clear acceptance policy and a

.written change policy

Answer: D. Tell AnyNameS|I that you need to have firm requirements documents, a clear

.acceptance policy and a written change policy
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Q329 (English)

IPlve completed some formal training in project management, but when | apply for project manager
positions, the employer says | also need project management experience. How can | gain
experience if | canllt get hired?

A. Be creative. find places to volunteer for projects and keep excellent documentation of your
project work.

B. Look for additional classes that will give you more academic knowledge.

C. Start your own business and hire yourself as head of a Project Management Office.

D. If you are currently employed, insist to your boss that you be promoted immediately due to

your recent training

Answer: A. Be creative. find places to volunteer for projects and keep excellent documentation of

.your project work
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Q330 (English)

| capture the typical project progress metrics. What other things should | monitor to get an early
warning about potential project problems?

A. Investigate the company statistics of past project success for the last five years.

B. Use Earned Value automated software. Without it, all projects tend to fail.

C. Look to soft, non-statistical indicators of potential project failure.

.D. Study the horoscopes of team members to see if they have compatible signs

Answer: C. Look to soft, non-statistical indicators of potential project failure
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@331 (English)

IPlve been promoted and | am now responsible for prioritizing projects, which | have never done



before. How do | start?

A. Look at your resources and choose projects by a systematic, planned process.

B. Do the projects that are pet projects for your boss. After all, he promoted you.

C. Have your project team vote on the work they think would be fun and challenging.

.D. Accept only projects that will give you and your team outstanding visibility

Answer: A. Look at your resources and choose projects by a systematic, planned process

(auypoll) 331 Ylgudl

1oyl gl go .Jud go @y adl 0l pol gog . gujlitall ciliglgl ey ge Ygduwo ciaunlg cailéy cuoj 14
dhhAog dagio dilac §ag gylitall 5359 elajlgo (] phil

Ala) (rall ggo .dpao lglha) (nill alegpitoly 06 .o

Lanig aeino loly (nill Jlocll cule agny cqpitoll Gupd €3 .2

I o clayyag elaioin (nill gyjlitoll héa Judl .o

ahhAng arngio allae Gaq aylitnll 310q cajlgo nl] phil B (A) T:aylo Ul

Q332 (English)

| know that people skills are essential for a project manager to communicate and execute a
project successfully. How can | manage all types of team members when we are so different in the
ways we communicate?

A. You canllt please everyone, so just communicate in any way you find comfortable.

B. Ask your family to note what you do wrong so that you can change it.

C. focus on executive stakeholders and gear your communications only to them.

.D. Notice how others choose to communicate and adapt your style to consider theirs

Answer: D. Notice how others choose to communicate and adapt your style to consider theirs
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Q333 (English)

The Project Management Office (PMO) at my organization wants us as project managers to use
templates. Iflm concerned that this additional paperwork will waste valuable project time. What
should | do?

A. The more templates, the better. Use them on all projects.

B. Go through the motions to be compliant, but in addition use your own documents behind the
scenes.

C. form a group of project managers to work with the PMO staff to develop useful templates and
agree on how and when they will be used.

.D. Having templates will stall your projects. fight them now while you can

Answer: C. form a group of project managers to work with the PMO staff to develop useful

templates and agree on how and when they will be used
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